FS TER ALK e WETEH e VA R % B fin 2% 1
14 RIS A A 5 5 K=
20 SIMET AR U=4.6um, k=2 (300-500) mm i 80 80 K=
21 AMET R U=4.6um, k=2 (200-300)mm 1 60 60 K=
30 I TR S Al A 4 u=0.01mm K=2 2m & 300 100 K=
38 LR A 400 0.0 K=
39 2 AKX A 210 0.0 K=
40 S EA AR 0.1mm/#% 10#% i 100.0 0.0 K=
44 IRSUFERN Uity 130 130 K=
50 R U JEA = 400 0.0 K=
51 NI IE S\ BT R = 400 0.0 K=
58 BT A = 280 0.0 K=
62 WER <50cm e 18 0.0 K=
63 ithr ER (0~150)mm {2 80 0.0 K=
68 HEHF = 400.0 0.0 K=
69 BRAIMET R (325~500)mm {2 90.0 0.0 K=
70 BRAMET AR (0~300)mm i 70.0 0.0 K=
71 el % 180.0 180 K=
89 T RAR Sl A ks e AX = 310.0 0.0 K=
90 T R &EATF 500mm<L<1600mm i 120.0 0.0 K=
91 T RIRA &t 100mm<L<500mm R 80.0 0.0 K=
92 T R &EATF L<100mm i 45.0 0.0 K=
93 BEE TR 25mm i 60.0 0.0 K=
94 M40 R (25~75)mm 2 60.0 0.0 K=
95 FAF TR 0.001mm (25~100)mm i 60.0 0.0 K=
96 RETHR (25~150)mm EIMAY i 60.0 27.0 KE=E
97 IEET R (125~150)mm i 60.0 0.0 KEE
98 NELETHR <100mm i 60.0 0.0 K=
99 AR FUKHER EZ0 (0~5)m K 35.0 35.0 KA
100 N T R 1400<L<3000mm Fa 250.0 18.0 K=
101 Wit TR 600<<L<1400mm Fa 160.0 18.0 KA
102 N T R <600mm % 120.0 18.0 K=
103 SMET R 0%, 1% (325~500)mm i 80.0 0.0 K=
104 SMET R 0% 1% (125~300)mm i 60.0 0.0 KE=E
105 SMET R 0%, 1% (25~100)mm e 60.0 0.0 KA
106 SMET R 0% 1% (0~25)mm i 60.0 0.0 KE=E
107 e dErE (0~50)mm A 190.0 0.0 KE=
108 o FERk (0~30)mm A 140.0 0.0 KE=E
109 R ATeRE (0~20)mm A 120.0 0.0 KE=




110 UIEIAN K 4.0 4.0 K
111 e AFen#k (0~12)mm A 80.0 0.0 KE=
112 FLAF T 2% (0.2~0.8)mm A 70.0 0.0 K=
113 T3 0. 1% (0~3)mm A 120.0 0.0 KE=
114 THE 0%, 1% (0~2)mm A 90.0 0.0 K
115 T3 0. 1% (0O~1)mm A 70.0 0.0 KE=
116 AT E 2% 0%, 1% (0~2)mm A 60.0 0.0 K
117 Bk 0. 1% (0~50)mm A 210.0 0.0 KE=
118 AR 0%, 1% (0~10)mm A 60.0 0.0 K
119 R R R (0~500)mm 2 120.0 0.0 KE=
120 HRER (0~300)mm i 80.0 0.0 K=
121 WA RGNS D 10um+5L, 12, 1% (1~200)m 2 35.0 4.0 KE=
122 m bR R R (0~1000)mm i 210.0 0.0 K=
123 R AN (0~500)mm 2 120.0 0.0 KE=
124 m bR R R (0~300)mm e 80.0 0.0 KR
125 iR i AN (0~500)mm 2 120.0 0.0 KE=
126 RER R R (0~300)mm e 80.0 0.0 KR
127 TR TN (0~1000)mm iy 210.0 0.0 KE=E
128 HEER (0~500)mm e 130.0 0.0 K
130 i AN (0~2000)mm iy 240.0 0.0 KE=E
131 I AN (0~1000)mm i 190.0 0.0 K=
132 Tt KRR (0~500)mm 2 120.0 0.0 K=
133 GLIENN <1m e 18.0 18 K
134 Tt KRR (0~300)mm 2 80.0 0.0 K=
135 KRS A (+12~-17)% Ra: (0.012~6.3)um He 25.0 25.0 K=
136 PARFEIR Jr 10.0 10.0 KA
137 BUEZER i 70.0 0.0 KE=
138 FER E A 0.02mm~1mm Jr 10.0 10.0 K
139 [ A 8 2 <200mm i 130.0 130.0 K
140 WR AU IR 49~7qg ity 130.0 130.0 K
141 pAALIEZS SN D>200mm A 160.0 160.0 KE=
142 St A AR 30mm<L<200mm A 90.0 90.0 K
143 pAALIEZS SN D<30 mm A 80.0 80.0 KE=
144 EER K 60.0 60.0 K
145 LA AR = 300.0 0.0 KE=
146 A (AR ) 0.002mm = 1200.0 00 K=
147 FR A (R 5D 0.005mm = 800.0 0.0 KE=
148 A (AR ) 0.01lmm = 640.0 00 K=
149 FR A (R 5D 0.02mm = 320.0 0.0 KE=




150 SEEEAG 0 R e £ 90.0 0.0 KE=
151 [ 54X (AL AB B4y ) 0.002mm = 420.0 420.0 KEE
152 il 540 (AL AEE ) 0.005mm & 200.0 200.0 KE=
153 [ 54X (AL AB B4y ) 0.01mm = 150.0 150.0 KEE
154 il 540 (AL AEE ) 0.02mm & 100.0 100.0 KE=
155 L 7K HEAX =) 1200.0 0.0 KEE
156 A A [. 1. % 0~360°, (1~5) km & 2400.0 0.0 KE=
157 E X S 1 0.1mm 0-10mm =] 1000.0 0.0 KEE
158 W= 0.1mm 0-1050mm & 280.0 0.0 KJE=
159 BOLIRZAL 3mm/5m 28m & 360.0 0.0 K=
160 77K AR 0.001mm/m 10mm/m A 300.0 0.0 KE=
161 ERiE 0.1mm 0-100mm Eil 100.0 0.0 KEE
162 LR 0.01mm (1-15)mm i 120.0 0.0 K=
163 ARSI R 0.1mm 0-10mm Eil 100.0 0.0 KEE
164 PN A R R 0.1mm/#% 10k% i 100.0 0.0 KJE=
165 O3 i AR AR 0.1mm 3m Eil 280.0 0.0 KEE
166 AN 0.1mm <6m e 180.0 0.0 KJE=
167 A R s TR 0 KA
168 TR A 50.0 0.0 KJE=
169 il B PR AT U e A & 220.0 0.0 KE=
170 B HUFEAL = 280.0 0.0 KJE=
171 HE QKP4 A 210.0 0.0 KE=
172 i 3 FLAR I e AN = 360.0 0.0 K=
173 Sk A KRR =) 360.0 0.0 KE=
174 Bl S IR R A = 360.0 0.0 K=
175 Bk FLFLEE R I AL =) 400.0 0.0 KE=
176 B 2K R0 e X & 280.0 0.0 K=
177 HETE Bl it & 280.0 0.0 KE=
178 HEE R i 400.0 0.0 KEE
179 B R T WA & 400.0 0.0 KE=
180 B e 24 i A & 400.0 0.0 KJE=
181 B REM KA & 400.0 0.0 KE=
182 E 15K A 0.01mm/m 10mm/m = 250.0 0.0 KE=
183 ALK IR K M E AL & 400.0 0.0 KE=
184 4R-5 YRR LB R JEAX = 400.0 0.0 KA
185 AR5 AR B0 )2 R I E A = 400.0 0.0 K
186 2 JEL T T e 400.0 0.0 K=
187 Bt A RAAEAX & 280.0 0.0 KE=
188 SAZ I EAX = 720.0 0.0 K=




190 SR AR E AL & 750.0 0.0 KE=
191 0 P A He 360.0 0.0 KE=
192 B FHE S A4 () W A = 1000.0 0.0 KE=
193 IKA AL E A =] 800.0 0.0 KE=
194 = FAHE D P R = 1000.0 0.0 KE=
195 IR FLARE IR IR = 1000.0 0.0 KEE
196 SR 22 53 e A = 400.0 0.0 KE=
197 A5 JEI JEAX =) 360.0 0.0 KEE
198 W HEER He 180.0 0.0 K=
199 AHXT 25 BE AL =) 280.0 0.0 KEE
200 ARSI = 280.0 0.0 KJE=
201 YA R A IRIE A & 280.0 0.0 KE=
202 FIEAR K SLIB B & 280.0 0.0 K=
203 TLERAR K S B IFEAX =) 280.0 0.0 K=
204 TSRS 72 = 310.0 0.0 KJE=
205 TCAR IR AT B B 400.0 0.0 K=
206 JIREHIFEHL = 400.0 0.0 KJE=
207 AR & 400.0 0.0 KE=
208 IR A & 280.0 0.0 K=
209 IS KM E AL & 280.0 0.0 KE=
212 + TAi B A = 280.0 0.0 KJE=
213 M RIASAX =) 280.0 0.0 KE=
214 I 2 ) A = 280.0 0.0 KJE=
215 HENMAER 5 270.0 0.0 KE=
216 [i] o FEAX = 360.0 0.0 KJE=
217 JE 1R i 100.0 100.0 KE=
218 B SRR i 120.0 0.0 KEE
219 BRI LR A E Ay & 360.0 0.0 KE=
220 BT R Ei 280.0 0.0 KEE
221 JHFAX =) 400.0 0.0 KE=
222 PRAEF S B A & 360.0 0.0 KJE=
223 PRAT B He 900.0 0.0 KE=
224 TRAL TR B I A e 280.0 0.0 KJE=
225 WE R (0~500)mm i 140.0 0.0 K=
226 P& 1 = 280.0 0.0 KE=
227 IKYeRS ZEA S e = 280.0 0.0 KE=
228 IKYEPTIE e H. A 100.0 0.0 K=
229 B AN =) 500.0 0.0 KE=
230 B 2 MM & 400.0 0.0 KE=




231 i i 360.0 0.0 KE=
233 Wi A =) 280.0 0.0 KEE
234 TAAE b R ZR AL =) 280.0 0.0 KE=
235 AT R R A E A =) 280.0 0.0 KEE
236 IEEIR (0~300)mm 53 80.0 0.0 KE=
237 M 0.08, —% 2-30000Ix =] 270.0 270.0 KEE
240 WO ¥ R B TR AR I A & 280.0 0.0 KE=
241 = FEAX =) 280.0 0.0 KEE
243 FLAI T A AR PG 2% = 360.0 0.0 K=
244 AR ES 400.0 0.0 KEE
245 BT = 360.0 0.0 KJE=
246 4 H AR EAX =) 720.0 0.0 KEE
247 A=A = 500.0 0.0 KJE=
248 RS A 280.0 0.0 K=
249 YI4J] = 400.0 0.0 KJE=
250 1A B FED A =) 400.0 0.0 KEE
251 |REZWNRSIEH =4iH 25 8 = 400.0 0.0 K
| X
252 AA G NEBi R ERE S = 400.0 0.0 KJE=
253 Ttz e B2 IR A & 280.0 0.0 KE=
255 I W AX = 180.0 0.0 KJE=
256 R e e 22 A & 280.0 0.0 KE=
257 &2 = 2800.0 0.0 KJE=
258 i AR EL AR R 0%, 1% <300mm A 80.0 0.0 KE=
259 [ RS = 360.0 0.0 KJE=
260 WAL =) 400.0 0.0 KE=
262 FHEN R E N A 280.0 0.0 KEE
263 KE T R Ei 120.0 0.0 KE=
264 B SN = 360.0 0.0 KEE
266 HE Sk N B4 & 280.0 0.0 KE=
267 B R E AL = 360.0 0.0 KEE
268 % 11 25 LAY & 400.0 0.0 KE=
269 FERERJITIR) (0.5~2)um 75mm<L<500mm i 100.0 0.0 KA
271 4% T T 2 A & 400.0 0.0 KE=
272 % T[] 53 258 AR W A = 400.0 0.0 KEE
273 4% T 40 34 VR P AN & 280.0 0.0 KE=
274 5% T A 345 T U A = 280.0 0.0 K=
275 ER AL T HEEN A 360.0 0.0 KE=
276 MRS BEAS A = 400.0 0.0 K=




277 FEARIEAX & 400.0 0.0 KE=
278 LTI EAX =) 360.0 0.0 KE=
279 TR 1. 2% L>2000mm 5 270.0 67.5 KE=
280 A FEAX =) 280.0 0.0 KE=
281 e MR = 400.0 0.0 KE=
282 SLEE VR FE A =) 400.0 0.0 KE=
283 5% 58 LI FEAX =) 400.0 0.0 KE=
284 ZLEENIRAX =) 400.0 0.0 KE=
285 L4 5 A = 400.0 0.0 KJE=
286 JE bR L =) 400.0 0.0 KE=
288 S7 3 K U A = 280.0 0.0 KJE=
290 TR 1. 2% 1000mm<L<2000mm X 240.0 60.0 KE=
291 PR AR R A = 280.0 0.0 KJE=
292 5 FERERR A 100.0 100.0 K=
293 JiE AW JEAX = 900.0 0.0 KJE=
294 L A 100.0 100.0 KEE
300 FLIE# i 280.0 0.0 KJE=
311 Al EE AL ) =) 400.0 0.0 KE=
322 KR it 100.0 100.0 KJE=
344 LS R - e & & 400.0 0.0 KA
356 R 1. 2% <1000mm e 130.0 325 KJE=
367 s 2 KA & 1300.0 0.0 KA
378 Eapubide s = 400.0 0.0 KJE=
380 b ok B 300mm<L<1000mm i 150.0 0.0 KE=
381 SR CIEN N (0-500) mm b 150.0 0.0 KJE=
382 JI BB AR Ein 150.0 0.0 KE=
388 R [ A A 280.0 0.0 KJE=
399 FEAX =) 280.0 0.0 KE=
410 MR, JVE (D) FER A 360.0 0.0 KJE=
425 = TATA LRI EA & 220.0 10.0 K
426 - AR JEAX = 220.0 0.0 KEE
432 oI i 400.0 0.0 K
443 TR A TR D A = 280.0 0.0 KJE=
454 VR S A IR A & 360.0 0.0 K
464 YR AR A A = 400.0 0.0 KJE=
465 Pakic] 1. 2. 3% (350~500)mm A 640.0 0.0 K=
487 [ 55 00 o A = 280.0 0.0 K=
498 | MNIEE IS HLE M NN RSt = 800.0 0.0 K
509 %) A 50.0 0.0 K=




520 RIS o A 280.0 0.0 KE=
531 JER KRy A=) =) 400.0 0.0 KEE
542 Ja LB A & 280.0 0.0 KE=
553 S5 m A i 280.0 0.0 KEE
563 Pl e & 280.0 0.0 KE=
575 J7 8 1. 2. 3% (200~315)mm A 480.0 0.0 K=
586 FERD T A 280.0 0.0 KE=
597 SEAELFEAN =) 400.0 0.0 KEE
608 v S Bk b i) 100.0 0.0 KJE=
619 GRS A 100.0 0.0 KEE
630 RN i 100.0 0.0 KJE=
641 B3 A B I RE A =) 400.0 0.0 KEE
652 BRI = 400.0 0.0 KJE=
663 N AL =) 400.0 0.0 KEE
674 XS4 = 400.0 0.0 KJE=
685 BN A b R A =) 400.0 0.0 K=
686 Rakit] 1. 2. 3% <200mm A 310.0 0.0 KJE=
697 X PR AP EAX =) 400.0 0.0 KE=
708 BRI E I E A = 400.0 0.0 KJE=
719 AN R A S =) 280.0 0.0 KE=
730 AR ST R = 280.0 0.0 KJE=
752 A LA AN =) 400.0 0.0 KE=
763 R BE A 200.0 0.0 KJE=
774 B B8 B =AY & 180.0 0.0 KE=
785 % DR I A = 180.0 0.0 KJE=
796 XTI AR e 360.0 0.0 KE=
797 TR 1. 2. 3% (3000x5000)mm He 800.0 200.0 K=
798 M 0.04,—% 0.1-20000Ix £ 310.0 310.0 KE=
809 W 2R 13 AR 32 2 T A = 400.0 0.0 KJE=
820 BER Ei 100.0 0.0 KE=
831 A FHE TN & 280.0 0.0 K=
842 B PR S e A & 280.0 0.0 KE=
853 5ETHh5% = 4000.0 0.0 KEE
864 € 5 URE A% =) 280.0 0.0 KE=
875 5 il S b AE AR RS 2 & 280.0 0.0 K=
886 F ) AR EE T AR 2R ML & 400.0 0.0 KE=
897 FHL 7K A7 i = 500.0 0.0 K=
908 s P ABE A & 280.0 0.0 KE=
909 PR 1. 2. 3% (2000x3000)mm He 720.0 180.0 K=




920 i A 6 A 400.0 0.0 K=
942 i 15 A 50.0 0.0 K=
953 FELKE BEFRBRAX & 720.0 0.0 K=
964 AR A 280.0 0.0 K=
975 MRENKRE (KEHD) & 280.0 0.0 K=
986 P U R A i B 400.0 0.0 K=
997 A5 3D I s = 450.0 0.0 K=
1008 MARHX = 400.0 0.0 K=
1019 AT i 100.0 0.0 K=
1020 PR 1. 2. 3% (1500x2000)mm Hh 630.0 157.5 K=
1042 A MR TR = 400.0 0.0 K=
1053 ) A 400.0 0.0 K=
1074 BEUE R IR A = 280.0 0.0 K=
1118 RGN il 100.0 100.0 K=
1129 brifEfe A 400.0 0.0 K=
1130 PR 1. 2. 3% (750x1000)mm Hh 580.0 145.0 K=
1141 FrifE A 100.0 0.0 K=
1163 LAY = 280.0 0.0 K=
1172 A B IAOE 2 A & = 400.0 0.0 K=
1174 AP & 22 R = 360.0 0.0 K=
1180 B RS A = 280.0 0.0 K=
1200 P32R = 200.0 0.0 K=
1210 LAY R i 100.0 0.0 K=
1211 PR 1. 2. 3% (500x800)mm N 480.0 120.0 KE=E
1229 HRISLTHR (0~300)mm i 60.0 0.0 K=
1240 RLTFHR (0~300)mm 2 60.0 0.0 KA
1251 HERANTHR 0-75mm i 60.0 0.0 KE=
1262 BERNFELT R (0~150)mm i 60.0 0.0 KE=E
1273 BREEET R (0~300)mm i 60.0 0.0 K=
1284 BEFE TR (0~300)mm i 60.0 0.0 KE=E
1295 BRIMETHR (325~500)mm i 80.0 0.0 KA
1306 BRI T R (0~300)mm i 60.0 0.0 KE=E
1317 Wt H & (2~450)mm A 120.0 0.0 KA
1318 AR 1. 2. 3% (450x600)mm B 400.0 100.0 K=
1327 B THE (0~50)mm A 180.0 0.0 KA
1338 Fw ATk (0~30)mm g 130.0 0.0 KE=E
1349 HRATHE (0~20)mm A 120.0 0.0 KE=
1360 Fw ATk (0~12)mm g 80.0 0.0 KE=E
1371 HRAHHE (0~50)mm A 180.0 0.0 KE=




1382 B E & (0~30)mm A 130.0 0.0 K=
1393 ST e (0~20)mm A 120.0 0.0 K=
1404 HRAHSTE (0~12)mm A 80.0 0.0 K=
1415 BEtAREEA SR 0.01mm (0~50)mm A 200.0 0.0 K=
1426 feft Sk 0.001mm (0~5)mm A 130.0 0.0 K=
1427 PR 1. 2. 3% (400x400)mm B 280.0 70.0 K=
1438 fesrSdEn&k 0.001mm (0~3)mm A 120.0 0.0 K=
1449 feet e & 0.001mm (0~2)mm A 100.0 0.0 K=
1460 feft 4k 0.001mm (0~1)mm A 70.0 0.0 K=
1471 festdEn& 0.01mm (0~10)mm A 60.0 0.0 K=
1482 HREERR (0~500)mm i 120.0 0.0 K=
1493 ST AN (0~1000)mm {2 200.0 0.0 K=
1504 HEEERR (0~500)mm i 120.0 0.0 K=
1515 ST AN (0~300)mm {2 80.0 0.0 K=
1526 AERR (0~1000)mm i 200.0 0.0 K=
1537 SRR (0~500)mm {2 120.0 0.0 K=
1538 iR 1. 2. 3% (300x400)mm H 270.0 67.5 K=
1549 AMERR (0~300)mm iy 80.0 0.0 KE=E
1560 BRRERR (0~1000)mm i 200.0 0.0 K=
1571 BERERR (0~500)mm iy 120.0 0.0 KE=E
1582 bR E R R (0~500)mm i 120.0 0.0 K=
1593 TR IR R R (0~300)mm i 80.0 0.0 KE=E
1604 ST 0-50mm i 150.0 0.0 K=
1615 R AR 0-50mm 2 150.0 0.0 K=
1626 RSN R M 0-50mm i 150.0 0.0 K=
1637 RN 0-50mm 2 150.0 0.0 K=
1648 A ETA)ESS) 0-50mm i 150.0 0.0 KEE
1649 AR 1. 2. 3% (300x200)mm B 240.0 60.0 K=
1660 SR 0-50mm = 150.0 0.0 KA
1682 HUABE B +100um & 80.0 0.0 K=
1693 22 B P A 0-10mm & 150.0 0.0 K=
1713 TR 0-25mm 2 60.0 0.0 K=
1724 R R ER AL 0-10mm A 120.0 0.0 K=
1735 e R EE AR 0-10mm A 120.0 0.0 K=
1746 HEFRR 0-300mm i 80.0 0.0 K=
1756 AR R R 0-30mm & 140.0 0.0 K=
B EVTNEEY T NIEYIN
1757 AT I ”ff%u"'% = 370.0 0.0 K
1768 RAFE R 0-300mm 1t 140.0 0.0 KE=




1773 B ER MC10 £ 140.0 0.0 K
1781 [EEIN MC10 Ei 80.0 0.0 KE=
1792 YA EUE R R 0-300mm £ 140.0 0.0 K
1803 VA R bR R R 0-300mm Ei 80.0 0.0 KE=
1814 AN IHE R R 0-300mm £ 140.0 0.0 K
1825 XL VA TiEAR AR R 0-300mm Ei 80.0 0.0 KE=
1835 LN 0-300mm £ 80.0 0.0 K
1845 LTHER 0-300mm Ei 80.0 0.0 KE=
1854 T ZE R ®3-9150 ity 150.0 150.0 K
1855 ~F- TH - i 1. 2% 100mm<D<150mm H 120.0 120.0 KE=
1856 = Fi. NEE 100mm<L<1000mm He 90.0 90.0 KR
1867 By (FRIE) X 100.0 0.0 KE=
1875 BRAER i 280.0 0.0 KR
1885 R TR ER 360° i 80.0 0.0 K=
1896 JiRefAER 320°, 360° e 80.0 0.0 KR
1907 HE = 25.0 25.0 KE=
1918 gy (HH) % 1800.0 0.0 KR
1929 mgs (+—H) 53 2100.0 0.0 KA
1940 iy (84F) % 1400.0 0.0 KJE=
1951 HL BN AL A 53 280.0 0.0 KA
1962 ilids % 180.0 0.0 K
1963 ~F- P i 19, 2% 60mm<D<100mm He 100.0 100.0 KA
1974 BRI R = 320.0 0.0 KJE=
1985 BRI R 0-180° =) 280.0 0.0 KA
1996 Bl (0-100)mL R 15.0 15.0 K=
2007 HEE (0-100)mL I 15.0 15.0 K=
2018 L (0-100)mL A 15.0 15.0 KEE
2029 K EURE 2% (0-1000)mL & 180.0 0.0 KE=E
2035 LCRill &4 = 540.0 0.0 KEE
2040 —IHTEZE A e BN e ABZL (0-100)mL =l 20.0 20.0 KE=E
2051 132135 28 B 3 s T ABZ (0-100)mL 5 20.0 20.0 KE=
2062 | i =iy 2E 5 3h e F AL E ABZ (0-100)mL I 20.0 20.0 KE=E
2073 e i e ABZ (0-100)mL A 20.0 20.0 K
2074 ~F-TH - i 1%, 2% <60mm H 60.0 60.0 K
2085 i 23 ABZ (0-100)mL R 20.0 20.0 KA
2096 = (0-1000)mL A 15.0 15.0 KE=E
2107 A (0-1000)mL = 15.0 15.0 KE=
2118 B (0-1000)mL A 15.0 15.0 KE=E
2129 R HEN g % 90.0 0.0 K=




2140 DY I E N A X 90.0 0.0 KE=
2151 IR U A * 180.0 0.0 KE=
2162 L = 3 X 180.0 0.0 KE=
2170 PRI A.BZ (0-100)mL J 45.0 3 K=
2181 R R ABZ (0-100)mL R 15.0 15.0 K=
2182 4 )@ I e S A 100.0 100.0 KE=
2193 JoHIE T E ABZ (0-100)mL A 20.0 20.0 K
2204 H IR ABZ (0-100)mL J 20.0 20.0 K=
2215 B = 600.0 0.0 K
2226 BN RIS 2% =) 290.0 0.0 KE=
2237 AR 4 1 ity 270.0 0.0 KJE=
2248 M= 0.01 (0~10)mm = 310.0 0.0 K=
2259 PERAAX IR <300mm e 220.0 0.0 KR
2270 SR <200mm =) 200.0 200.0 KE=
2281 ACUININ 0.01mm <2.5m A 1000.0 1000.0 KR
2292 — AR E AL 1.5um (0~6000)mm Hh 1000.0 1000.0 K=
2293 PRSI0 i % 70.0 70.0 KR
2302 WZACR TE Jr 85.0 85.0 KA
2312 it MR 54X = 400.0 0.0 K
2323 | wEWEAC CHIRG . B = 360.0 85.0 KE=
2334 F e <100m & 1200.0 0.0 K
2345 R 7 I JE A =) 360.0 0.0 KE=
2356 T2 A A IV 0~360° & 400.0 0.0 KJE=
2367 B2 A1) 1. N N 0~360° =) 600.0 0.0 KE=
2378 N2 LA AN DJ6%% . DJ30Z 0~360° = 400.0 0.0 KJE=
2389 W24 AN DJ2%% 0~360° =) 600.0 0.0 KE=
2400 N 2E L A AN DJ1% 0~360° = 800.0 0.0 KJE=
2401 WLE A R A% R X 360.0 0.0 KE=
2412 TKHEAX DS3 & 290.0 0.0 KJE=
2423 TKHAEAX DS1 = 340.0 0.0 KE=
2434 TKHEAL DS05 = 400.0 0.0 KEE
2445 H v EAX +10um = 290.0 0.0 K=
2456 SRR +5um = 310.0 0.0 KA
2467 H HEELAX 0.005mm/m 0~10’ =) 400.0 0.0 KE=
2478 AHHE I A AX 5"ULF 0~360° = 540.0 0.0 K
2489 FOEMARAX =) 490.0 0.0 KE=
2500 5 JEAX 1—4% 0~360° = 1500.0 0.0 K=
2511 PRRR R ks <50mm =) 300.0 90.0 KE=
2512 o7 A% A 0.005mm 50mm <L<1000mm = 750.0 0.0 KE=E
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1421 TR TR 4 0.1C 0°C~100C =) 300.0 200.0 Hge

1422 THIR R % 0.1C 0°C~100°C = 300.0 200.0 HRE =
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1429 IR KA 0.1C -30°C~0°C =) 700.0 300.0 HEEE
1430 B R KA 0.1C 0°C~200°C = 400.0 200.0 AL =
1431 TEIR KA 0.1C 0°C~100C =) 300.0 200.0 HEEE
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1547 HAL BH A (300-1000)°C = 700.0 400.0 Hipe=
1548 o T A X R B (300-1000)°C = 700.0 400.0 e
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1559 G RIAS BRI R A (300-1000)°C & 700.0 400.0 ieE
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1570 Tk 2B B =AY (300-1000)°C & 700.0 400.0 ieE
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1640 JE S 7RIK B (O_lfg)?wga’ - & >409 300.0 s
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1646 AR 7 2 A 25 O owpa A >40.0 300.0 .
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1678 =4 EH BB )E R 20L~30L & 540.0 0.0 HEe=E
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2736 TR &k BB FE B 3000.0 100.0 1t —=
2737 B RF 111 1009~ 10kg = 25.0 0.0 ¥ —=
2738 AR 11 5mg~100g = 60.0 0.0 =
2739 R 11 &L = 300.0 0.0 15— =
2740 TR I =) 500.0 100.0 12—
2741 HLbR R d>1mg = 260.0 0.0 ¥ —=
2742 WU R T d<1mg & 800.0 0.0 =
2837 = 5 1A% = 180.0 0.0 1=
B e s HH/1Urel=0.9%; #£i%
N \T‘l_[[ L L Y.
3 WL 4 0 vEHE ORI 15 4% Urel=0.2km/h = 1500 0.0 Sy
B #5h IMPE:£3%; %l | #13h/): 4000daN; i
S | NN L w .

4 TR & +2% . 5000kg H 1460 0.0 J5 =
25 K 2% DN:200-400 He 100 0.0 AL
26 K 2% DN:80-150 He 50 0.0 Jisp s
41 nyEAL 0.1-1.0% DN:<100mm & 500 100 P
45 BRE ) T I3 S T A AL & 1000 0.0 J1
46 AT IR & 1000 0.0 P
49 I ) B YR B A K 4% & 2000 0.0 J1
67 JE 1% He 70 0.0 A
72 ZIEit 1,1.6,2.5,4% 0~2.5kPa & 150.0 0.0 J1 0w
73 JE#E 1t 1,1.6,2.5,4%% 0~2.5kPa & 150.0 0.0 A




(700~5400) PRM,

e ..
332 IR B % T i 0.02 (95-180) Hz = 400.0 0.0 P
334 JEC A [R] BiA 50mm & 400.0 0.0 1=
R 0~500lx ; 0~

0 SN2 A ’ AN
335 T 3 A A A 28mMW/em?2 & 400.0 0.0 PR
336 PLzh 23 R 0.01 (600~9999) PRM =) 400.0 0.0 N =
337 AT (+3%) 0~99.9% & 500.0 0.0 1% =
338 e 17 Z 0 AL 0.1 1kN & 500.0 0.0 J1 =
339 FEARIT R S0t 0.05 = 500.0 0.0 AL
340 {5 485 1) 3 1 e A =) 640.0 0.0 JiE =
341 ZE BB AN £#1% | e & 1050.0 0.0 A
342 HEMER GG +0.2m/km (0~7)m/km =) 710.0 0.0 JiE =
343 AN ERERRR G +3.0% (0~120) km/h = 710.0 0.0 AL

KICEEE: (50 ~300)
e N x102cd; HHhmFE -
VR ZE AT HRAT Ko 9 a
345 HLAD 2RI i BT G +15% Lo }2030", /2°30" = 710.0 0.0
~452°30' Fph
346 IREREAY +2% (0~100)kN & 710.0 0.0 1% =
347 B R & +3% (0~40)kN = 750.0 0.0 1% =
348 4= H R 0—10Rb =) 400.0 0.0 AL
349 TUEHRBC AT 3%~5% C0:0-5% HC:6400ppm = 1300.0 0.0 Sy
350 PES BT X 3%~5% CO:0-5% HC:6400ppm = 1300.0 0.0 Sy
351 BAEHR E X 1% 170~2000m3/h = 800.0 0.0 Jisp s
352 LB 23 & o AT X +1% 170~2000m3/h =) 800.0 0.0 AL
353 7 0 U E T 0.3%; k=2 (21.6~71.0) % & 450.0 0.0 J1% =
k. (15~400)kg; i
. HEMPE: +0.1%; | f: (0~120.000)
Sl B 4
354 FRELhBL AIMPE: +3ms km/h; B (0~ B 1500.0 0.0
999.999) s VAL
355 LU A5G & & 400.0 0.0 N =
373 AT A AN & 500.0 0.0 J% =
383 P A 1.0 & LR =) 180.0 80.0 P
384 WAL >0.5% & 200.0 0.0 J% =
385 R I T 0.5 & UL~ =) 900.0 300.0 A
s (1.5~4)%%, DN(25~

386 it 100)mm H 200.0 0.0 Sy




(1.5~4)%, DN(6~

387 et 20)mm He 150.0 0.0 Sy
s (0.2~1)%,
393 L E T DN:200mm He 1200.0 0.0 Sy
s (0.2~1)%, D(80~
394 L E T 150)mm He 1000.0 0.0 Sy
~ 0, <
395 HL R T (02 513::& DN:= B 800.0 0.0 P
396 JRE (0.1~1.0)% DN:200mm He 1200.0 0.0 AL
397 J R L T (0.1~0.2)% D(80~150)mm H 1000.0 0.0 =
398 Jo i (0.1~0.2)% DN:<50mm He 800.0 0.0 J1 s
400 i FEE A g 400.0 0.0 S
. 60%~30%, (10-
Hh = N
401 AR AT 1-102)Pa A 300.0 0.0 Sy
0/~ 0, -
402 HLRH H 25T 60 /":fog"F’,a(lo = 300.0 0.0 s
403 SR BN EAX = 500.0 0.0 AL
404 J& 77 R A 1.0 F LR & 180.0 80.0 S =
406 T i as (B FFoR) 0.5%% K LA F = 180.0 0.0 Jisp s
407 D A 140.0 0.0 JAE
408 15 % AUk i —2&, (-0.1~250)MPa = 500.0 10.00 VAL
434 FHAEIR W E =) 300.0 0.0 S =
441 R B = 400.0 150.0 1=
442 IR v 5 600.0 0.0 S =
444 ANiENCSE T ‘:7 560.0 0.0 Jisp s
445 ey AR 5 500.0 500.0 S =
447 J& 77 & A & 100.0 20.0 Jisp s
449 LU EAY & 300.0 50.0 P
450 R R4 & 550.0 50.0 Jisp s
451 EVALNG & 900.0 0.0 P
452 ot E & 500.0 50.0 Jisp s
453 PR Bl G i 2 & 400.0 100.0 P
455 RENHLEE H R 5 400.0 100.0 Jisp s
456 IR B e g 1000.0 0.0 P
457 B I e 0.5%% LA F & 1200.0 0.0 Jisp s
458 VRIS AT AR T 0.1 (50-180) L/s & 1200.0 0.0 A
459 IR = % IR 0.1 (50-180) L/s =) 1200.0 0.0 S =
460 VMASi it 0.1 (50-180) L/s & 1200.0 0.0 A
461 PR3 AL 0.1 (5-2000)Hz = 400.0 100.0 I =




462 WLENZEHE S T4 0.05 & 1700.0 0.0 Jys =
463 ST 3%~5% C0:0-5% HC:6400ppm = 1700.0 0.0 Sy
466 JE I R TR 0.25. 0.5 (0~40000) r/min He 220.0 0.0 Jis =
467 AR 0.05-0.1%% (0~250)MPa & 600.0 0.0 Jys =
469 T D:80~150mm =] 300.0 0.0 Jis =
470 B s i R I8 0.0005 <250MPa & 800.0 0.0 Jys =
471 Bz s i O IREA) 0.001 <250MPa =] 550.0 0.0 Jis =
472 A A O 73893 0~40MPa = 550.0 0.0 P
473 & 7735 1 2% 1,1.5,2.5,4% & 300.0 0.0 JiE =
474 JE ) A AR IEAS (0.2~0.5)%% (-0.1~250)MPa = 400.0 0.0 7% =
475 5 SR ik 0.05~0.1%% (0~250)MPa & 700.0 0.0 J1% =
477 JE ARk A (0.2~0.5)%% (0~250)MPa = 400.0 0.0 7% =
478 JE AR RS 1,1.5,2.5,4% (0~250)MPa = 360.0 0.0 =
479 JE it 0.2~0.5% (0~250)MPa = 400.0 0.0 7% =
480 J5 D45 KA 0.1% (0~60)MPa =) 500.0 0.0 N =
481 JE it 0.05%% (0~60)MPa = 600.0 0.0 7% =
482 Ji e E A A 2.5,4% & 180.0 0.0 JiE
WIEd (F—NEHER, —A% R
483 S 2.5,4%% = 180.0 0.0 PR
484 BER (AR 2.5%% = 180.0 0.0 %=
485 T ZE R 1.6,2.5,4% 0~2.5kPa =) 150.0 0.0 AL
486 e % 1MLk 2% 0.16%% 0~40kPa = 180.0 0.0 %=
488 FE R H SR 0.25, 0.4% (-0.1~10)MPa e 150.0 0.0 J1% =
489 EWAES 0.25, 0.4, 0.6% >5MPa He 150.0 0.0 =
490 xR AEALR, BATR 1,1.6,2.5,4%% 0~60MPa e 250.0 0.0 1=
491 WAL E 1%k 1,1.6,2.5,4%% 0~60MPa He 100.0 0.0 J1% =
492 RV WA 1,1.6,2.5,4%% 0~60MPa He 70.0 0.0 Ji =
493 Jeig, WA EIR 1,1.6,2.5,4%% 0~20kPa He 70.0 0.0 J% =
494 JE ) EHAE R 1,1.6,2.5,4%% 0~60MPa Hhe 60.0 0.0 JiE =
495 TRIE A IR 1) R R BRAS A AX = 700.0 0.0 J% =
496 ZEAAMER RSFAX & 1400.0 0.0 Ji =
497 REE SRR RS & 1400.0 0.0 J% =
499 WA & 800.0 800.0 Ji =
500 8 n) Jy--- A EAX = 640.0 0.0 J% =
501 B FATHL & 1100.0 0.0 Ji =
502 DO E AL & 2800.0 0.0 J1%F =
503 BRI & 500.0 50.0 Ji =
504 ER AT IR (1-70) MPa = 550.0 300.0 Ji2 =




505 JE 7 A & 100.0 20.0 Jys =
506 T =) 700 0.0 Jis =
507 B FEAY & 300.0 50.0 Jys =
508 R R ) = 550.0 50.0 Jis =
510 X =) 900.0 0.0 Jys =
511 R E = 500.0 50.0 Jis =
512 PR Bl i UG B A & 400.0 100.0 Jys =
513 RENHLIE TH R =) 400.0 100.0 Jis =
514 RERIBIALE & = 1000.0 0.0 P
515 e YR T 0.5 % L K & 1200.0 0.0 JiE =
516 ARSI E A R 0.1 (50-180) L/s = 1200.0 0.0 P
517 LN ZE 3 B AT X 0.1 (50-180) L/s =) 1200.0 0.0 N =
518 VMAS/ii & it 0.1 (50-180) L/s = 1200.0 0.0 P
519 G NN 0.1 (5-2000)Hz =i 400.0 50.0 P
521 BB ZEHE T BT X 0.05 & 1700.0 0.0 D1
523 REEHEBUS AR 3%~5% C0:0-5% HC:6400ppm = 1700.0 0.0 P
524 ST 3%~5% C0:0-5% HC:6400ppm = 1700.0 0.0 Sy
1113 B AR 0.5% & 420.0 210.0 T =
1114 BUE & 1R 0.5% = 420.0 210.0 %=
1119 B AR 1.0%% & 340.0 210.0 T =
1120 BUE & 1R 1.0%% = 340.0 210.0 VAL
1190 Hfyil & 100.0 0.0 JiE
1445 RESE TR 0°C~100°C = 560.0 300.0 D125
1802 Ak ZE R AR E T 1.0 &% LR DN200 A 2000.0 0.0 AL
1804 AR ZE R E T 1.0%% X LLF DN150 A 1500.0 0.0 J1%
1805 Ak ZEE AR ETT 1.02% X UL DN100 A 1100.0 0.0 P
1806 AR ZE R E T 1.0%% X LLF DN80 A 880.0 0.0 J% =
1807 Ak ZEE AR E T 1.02% X UL DN50 A 800.0 0.0 P
1808 AR ZE R E T 1.0%% X LLF DN25 A 640.0 0.0 J% =
1809 AR YRR T 1.04% }% UL DN200 A 2000.0 0.0 Ji =
1810 A S R R 1.0%% X LLF DN150 A 1500.0 0.0 J% =
1811 AR YRR T 1.04% }% UL DN100 A 1100.0 0.0 Ji =
1812 A S R R 1.0%% X LLF DN80 A 880.0 0.0 J% =
1813 ASAGER YRR T 1.02% X UL DN50 A 800.0 0.0 Ji =
1815 AR S R T 1.0%% X LR DN25 A 640.0 0.0 Ji2 =
1816 SRR E T 1L.OZ LT DN150-DN200 A 2000.0 0.0 pAE
1817 SRR ERELT 1.0%% X LR DN100 A 1500.0 0.0 Ji2 =




1818 SRR E R E T 1.0%% F% L - A 2

- e 0% J% ‘JT DN50-DN80 | 1200.0 0.0 Jys =
S R L 5 ) 1.0%¢ & LN DN200 A 2000.0 0.0 [
e | R LT (R TR T . —
S IR UL ) 1.0 L AR DN150 A 1500.0 0.0 [
oy | R LT (TR T — At
S IR UL ) 1.0 L AR DN100 A 1100.0 0.0 [
oy | R LT (R TR T — At
I UL ) 1.0 L AR DN80 A 880.0 0.0 P
R R (BT R T - ‘ —
1823 S R L B ) 1.0%¢ L F DN50 A 800.0 0.0 P
R R (BT R T - ‘ —
1824 IR AR B 2 ) 1.0 KA DN25 A 640.0 0.0 U
1826 AR IR LOGH VLT DN200 7~ 2000.0 e
— : 0.0 VAL
1827 SRR E T 1.0 AT DN150 A 1500.0 TR
1828 SRR E T 1.0 &% LLF DN15-DN100 A 900 b 8'0 jj%j_f
1829 E IR o i LOBLDL T DN200 7 1700.0 5 =
1830 ST R E T 1.0 & LLF DN150 A 1400'0 00 jj?—_f
1 DL ) 0.0 T =
1831 ST R R 1.04% J% UL F DN80-DN100 A 800.0 0.0 AL
1832 ‘ %W%ﬁ%ﬁ%ﬁ 1.0%% ) LA~ DN15-DN50 A 600.0 o'o ﬁ%ji
1973 TR B D2 T R 2 300.0 ' ==
1975 WAt 20 HL = 300'0 50 jji:%
2357 48 75 A ‘:7 1356 0 00 jjij%
2501 JEC A [H) B +10cm =) 700 b 50 jji:%
2502 MR Es GERBUOR ) 0.03,1 . II% (10~5000)Hz B 720'0 50 jjij%
2503 PR KL BT A 0.03 <5kHz & 1006 0 8'0 jji:%
2504 IEAR B H 184X 0.05 (10~2000)Hz = 720 b 5 ﬁiji
2505 I AR X 3 B T 0.05 H 640.0 50 jjiji
2506 FREEHE B 4 BT X 0.05 (10~2000)Hz & 700'0 50 ﬁiji
2507 G T 0.1 10~40000 EBE ' 50 jj?ji
iR I ( YHz HIE 800.0 400.0 ¥ =

2508 PRI % 0.03 >1Hz = 800.0 =
DiIhE: ( . 0.0 1% =
2509 NABAR B I AX 5%k 10% (5~200)Hz =) 480.0 0 o
2510 PP DN A 0.03 (5~1000)Hz = 800.0 5 ﬁiji
2513 B e 0.1 <1000kg 4 1350.0 8'0 =
2514 IE T AR A 0.03 <1007 = 380 b 5 ﬁiji
2515 BB R 12 T 0.05 (10-5000)Hz = 800.0 8'8 jjiji
2516 FLIRER K 0.05 (10-1000)Hz = 500.0 0.0 ﬁiji
2517 %T}&Tﬂ:c% 0.05 (10-1000)Hz & 500.0 0.0 ﬁ;jg
2518 HhARIR K 0.05 (10-1000)Hz = 500.0 o:o 7'75%#;?.3




2520 HL AR IR 0.05 (10-1000)Hz & 500.0 0.0 J1% =
2521 HhEAX 5%10% & 560.0 0.0 )5
2524 k= A 0.05 (200-1000)m/s & 640.0 0.0 1% =
2525 BN B A S 0.05 (200-1000)m/s = 1400.0 0.0 15 =
2526 FriER AR 0.02 (5-5000)Hz & 600.0 0.0 J1% =
2527 ZHIE(S 5 REAX 0.1 10-2000Hz JHIE 700.0 400.0 15 =
2528 FENLIR SN 58 R 4t 0.05 <10kN = 1350.0 0.0 AL
2529 IURLAE i M 75 A I R 40 0.05 = 1350.0 0.0 15 =
2530 RORLAE 3 AT & 0.05 = 1350.0 0.0 1% =
2531 e IR R 5% 0.05 <100kN = 1350.0 1350.0 VAL
2532 HLAR JBOR 3 . % AIE 640.0 640.0 7% =
2535 EvANN (10~2000)Hz = 600.0 100.0 VAL
2536 SRS 0.05 10-2000Hz & 900.0 0.0 7% =
2537 FEME S I FE T 0.05 10-2000Hz = 900.0 0.0 =
2538 SR I R 0.05 10-2000Hz & 900.0 0.0 7% =
2539 2RI 0.05 10-2000Hz = 900.0 0.0 J1%E =
2540 fib i & 0.1 <500kg = 900.0 0.0 7% =
2541 e s 0.1 <100kg = 800.0 0.0 A
2542 M AKCFR )AL & 0.05 <200kg = 800.0 0.0 1% =
2543 BEASRS AR S 0.05 <200kg = 800.0 0.0 1%
2544 B IRIAE S 0.05 <200kg = 800.0 0.0 1% =
2546 Wbk IR ah k% & 0.05 <200kg = 800.0 0.0 1125 =
2547 e 0.05 <200kg = 800.0 0.0 1% =
2548 AN FIRS 0.05,1. 2%! (2~100)Hz = 480.0 0.0 1%
2549 TAEMRAX 5%, 10% (20~2000)Hz = 480.0 0.0 1% =
2550 TR BRI 5%, 10% (20~2000)Hz & 480.0 0.0 1% =
2551 R 5%, 10% (20~2000)Hz & 480.0 0.0 1% =
2552 PR R AL IS 0.05 (10~1000)Hz H 400.0 0.0 AL
2553 9415 TR s 0.05 (0.5~200)Hz H 1600.0 0.0 715
2554 891 R7% 0.05 (0.5~200)Hz H 1600.0 0.0 J1%E =
2555 fRIRAR 0.05 (0.5~200)Hz HIE 400.0 400.0 1% =
2557 IR BN AL A 0.05 (10~1000)Hz H 400.0 0.0 1% =
2558 JE HUIE T 0.05 (10~2000)Hz H 500.0 500.0 1% =
2559 = Hhhnd R T 0.05 (10~2000)Hz 3% 1500.0 0.0 1% =
2560 E G = 1400.0 0.0 1% =
2561 IS AL 0.02 (0~160)km/h = 800.0 800 PALE
2562 DTHAX = 800.0 800.0 715
2564 T IR A & 400.0 0.0 J1%E =
2565 ST +2. 56T A = 400.0 0.0 1% =




2566 B FEL =)
2568 FR B r o o= e
2569 T OMGE X = e = e
o S JE 700.0 0.0 Jys =
— T =l 700.0 0.0 Jis =
2571 L _ _ = 2000.0 0.0 e
o S SRy (x3%) 0~10FSN i 560.0 0.0 ;Jj;:?]‘i
2574 7 ) T AL = T > ke
o S =l 1000.0 0.0 Jis =
2576 VL S i 0—10Rb r ol o o
2577 RN R 0-30m/k P oo = =
2579 Y B FEAT R 0.15 8000~300£)n0 d r e o L.
2580 TR D (X - r T o =
7581 RS r T o L.
7582 A BT r o0 o —
7583 B EERR G 9-60km/h = s = o
2584 W (B EAX O—lOOrgOk r e o =
2585 BRI R 0— 6000k ! 5 e o L.
2586 TR B O—6000kg r Y o= o
gggg FELTE T 2R 2 R E A 0.1sbl F : Z l(5,40600&)0 22 2=z
BRI i 7 ETE - ' >3 c o
., Eﬁiﬁﬁ‘}; ;%Eg )%‘ﬁﬁl %i@g%ﬁ%ﬂfrﬁﬁ ] 2.0 0.0 ;jjjzi
ERLE TP 2 BB | >200] S
2502 LT P [ 7 56 00 i
2593 HLTh A 1 2 s %ﬂﬁz\ﬂ% %‘% 11 ) = s 5o =
2594 B SR o1 020000 F o =2 = e
2504 2R SR Z B 800.0 0.0 P
2595 e & 200.0 0.0 e
2597 VR I 2 2 B AL, 0.1 z s 22 e
2598 AN R (0.1-9999.9) r o o S
2599 R (0—9999) = 5 e = L
2601 T oA 001-05 (0—40000) r/rrr:r r o o S
2602 R R e E 0.01~0.05 (0~40000) r/ T 5 el = _—
2603 HE R E 01 (0~20000> i r 0 = ==
2604 7k A R R AL 05 (0—20000) /m!n 5 e = _—
2605 B E & 05—2.0 (0200005 min 5 oo = e
2606 flf i AU T R 0.5~2.0 (0~20000) r/m:: iﬁ o 22 -
2607 FEN G20 0.25 05 (0—~40000) r/min : 2300 o= b
;ggg R ST 0.01~0.2 (0~40000) r/min iﬁ 421(2)8'8 o =
/) ) 3 : Mg'_‘_’
R 05-1.0 (0—40000) r/min B 280.0 50 I




2610 RN 0.01~0.2 (0~40000) r/min B 400.0 0.0 1% =
2612 AT A 2 (0~160) km/h = 800.0 800.0 VA
2614 AR ET (0.1~1.0)% DN:<100mm B 420.0 0.0 J1% =
2615 WA i ke 0.5% D(80~150)mm =] 640.0 0.0 VA
2616 i S el = A 0.5%% D(15~50)mm B 480.0 0.0 J1% =
2617 BT 0.5% D(80~150)mm He 640.0 0.0 VA
2618 R 0.5%% D(15~50)mm B 400.0 0.0 J1% =
2619 4R AR T () D(15~100)mm =] 320.0 0.0 VA
2620 st (1.5~4)% DN(6~100)mm B 300.0 0.0 1% =
2624 A E T (0.1~1.0)% D(10~100)mm =) 360.0 0.0 P
2625 WA SR E (0.05~0.5)%% (80~150)mm & 1400.0 0.0 7% =
2626 AR ER R E (0.05~0.5)% D15~50mm = 1100.0 0.0 J1%E =
2631 U 71t 14 (0~20)kPa = 150.0 0.0 7% =
2632 HeE kIt 0.05%% <250MPa B 450.0 0.0 X
2633 kIt (0.2~0.5)%% (0~250)MPa B 250.0 0.0 7% =
2635 e it 0.1% <250MPa H 300.0 0.0 VAL
2636 JEEA R R A (0~60)MPa = 140.0 0.0 7% =
2637 IR T E R (0~40)Mpa = 210.0 0.0 1125 =
2638 JE AR A 0.05-0.1%% = 600.0 0.0 1% =
2639 JE ARk A 0.2-0.5%% (0~250)MPa = 350.0 0.0 1%
2640 HAENE (1~4)% N 40.0 0.0 1% =
2641 JE IR A% (0~250)MPa = 260.0 0.0 1%
2642 JE IR A (0~60)MPa = 250.0 0.0 1% =
2643 S BTN (0~250)MPa N 40.0 0.0 1%
2644 HLH S (PR ) 1Z LT (0~60)MPa N 50.0 0.0 1% =
2646 i WA 1% VLF (0~60)MPa Hh 100.0 0.0 A
2647 AR 0.25,0.4,0.6%% <5MPa N 100.0 0.0 1% =
2648 F % IR (0.25~0.6)%% >5MPa e 120.0 0.0 J1% =
2649 [ (0~40) kPa N 25.0 0.0 1% =
2650 A 2% i v 0.4% (0~40) kPa B 140.0 0.0 1% =
2651 FE 2 s T 0.16%% (0~40) kPa N 250.0 0.0 1% =
2652 s T (ZEE ) TAEH (0~2.5)kPa =) 150.0 0.0 P
2653 ARE. LRE (1~4)% (0~40)MPa N 40.0 0.0 1% =
2685 AR RS = 900.0 0.0 J1%5 =
2772 R IR 71 25 A 0.5%% = 420.0 210.0 1% =
2785 FERR A T 25 A 1.0% = 340.0 210.0 )12 =
2809 R IBAAE 0.5%% = 420.0 210.0 715
2810 B AR 0.5%% = 420.0 210.0 J1%E =
2815 BURBALAGE 1.0%% = 340.0 210.0 I =




2816 BUE & 1Ak 1.0%% =) 340.0 210.0 Jys =
15 e s e BEL A 102~1012Q A 12 0.0 IS
16 (k] I 12 12 HL s
17 et 24 i 21 B U HLBH A A 0.01mQ-200mQ =) 500 300 LS
18 | ifn MU S F PR R I AR 0.01mQ-20kQ =) 500 300 s

= 22 AR AY 2% BT VA i
28 AR uﬂuﬁtg)( A B R 444 2 900 0.0 .
29 GARLEA I (i R = 700 0.0 =
32 L BE 25 A A = 700 0.0 S
74 R R AT AX 10-7~10-9 (0.5-30)MHz & 450.0 0.0 L

232 F-FE U AR = 100.0 0.0 G
298 e IR G =) 600.0 0.0 =
299 Wt % B A PRI JHIE 200.0 200.0 G
301 — IR X =) 400.0 0.0 =
302 AR e S = 600.0 0.0 S
303 2 i s A AR I A =) 1000.0 0.0 =
304 X e = 600.0 0.0 G
305 AR A 2 B SR 28 A X & 600.0 0.0 LA
306 AP g A B AR FE S B = 600.0 0.0 L
307 AL e R R =) 1000.0 0.0 H 2=
308 FERAR AT s 16 2 B = 800.0 0.0 IS
309 e s 1A AR T A =) 1000.0 0.0 H 2=
310 IR g = 1000.0 0.0 L
312 BRI T g =) 1000.0 0.0 H 2=
313 AR S A = 550.0 0.0 IS
314 AR R DA & 600.0 0.0 LA
315 HIES BT X = 600.0 0.0 =
316 B RS IR B R E & 1000.0 0.0 L2
317 AR AR D R i T A 2 = 1000.0 0.0 IS
318 AR DR IR T e 3 B & 1000.0 0.0 L2
319 e B S T OGRS & & 800.0 0.0 IS
320 P FEL PRI A & 300.0 0.0 L2
321 2 A3 i 6 2 = 600.0 0.0 HH 2
323 20 2% i s 0 2 =) 600.0 0.0 H 22 =
324 PR B (0.1-9999) s & 96.0 0.0 HH 2
325 o B R (0.1-9999) s =) 96.0 0.0 o=
326 PR GRS (0.1-9999) s = 96.0 0.0 HH 27
327 B (0.1-9999) s =) 96.0 0.0 o=
328 N EES (0.1-9999) s = 96.0 0.0 HH 27




329 HER % 1) 2% (0.1-9999) s & 96.0 0.0 IS
330 AR LT 3 (0.1-9999) s =] 96.0 0.0 =
331 I B R 1000ALL = 150.0 0.0 IS
333 A5 MR 2R B R e v X =] 300.00 300 =
357 G HL A HTAX 15kV  1000MQ & 900.0 0.0 G
358 JEAENLIR B 5 (0-2000) Q =] 300.0 300.0 =
359 iy BSR4 iR T A (0-10000) Q & 600.0 300.0 IS
360 BT 2 DhRE DAY (0.1-0.5) % 600V 20A & 180.0 180.0 222
534 EENAYSARE T = 300.0 10.0 =
1664 AT P A 1 0.005 DC~1000MHz & 3600.0 0.0 L
1665 R N &) 2%, 0.01% DC: ~500MHz & 1800.0 0.0 G
1666 HroR AL 0.005 DC~1000MHz =) 3600.0 0.0 =
1667 BT el 2%, 0.01% DC: ~500MHz = 1800.0 0.0 =
1871 LA Ik A =) 500.0 0.0 =
1872 PRAERLI & = 3100.0 0.0 G
1873 T3 = 600.0 0.0 =
1874 i FLyR A B B = 300.00 300 IS
1876 RS =) 96.0 0.0 H 2=
1877 PR = 96.0 0.0 =
1878 I AR R ] [A] =) 96.0 0.0 H 2=
1879 5 s AR B[] = 96.0 0.0 =
1880 TEI TR R A =) 96.0 0.0 H 2=
1881 B[] 422 il = 96.0 0.0 IS
1883 e ML (BE) = 800.0 0.0 H 2=
1884 FHeUm AT Er iU g £ = 240.0 0.0 G
1886 ML= Y s s B & 2000.0 0.0 LA
1887 A% R IR 2 2 4t = 1000.0 0.0 G
1888 ] 7] 4k FL A 0.3s (1~3600) s g 300.0 0.0 HLA e
1889 TV e R Sk A 500.0 0.0 G
1890 1B 3% =) 300.0 0.0 H 2=
1891 i B A 150.0 0.0 =
1892 EES +4s/d A 150.0 0.0 H 2=
1893 B A 10-5~10-7 = 500.0 0.0 =
1894 A AR A 1x10-8 1MHz,5MHz,10MHz 8 1000.0 0.0 Hi 2
1895 b e AR U 4 1x10-9 1MHz,5MHz,10MHz & 1250.0 0.0 FEE
1897 B AIE T "1x10-8LL " 10Hz~1MHz =) 1000.0 0.0 o=
1898 Z IRETT E Ay 10-7UA R 10Hz~2GHz = 1000.0 0.0 =
1899 B REAELT = 1000.0 0.0 o=
1900 LESS = 1000.0 0.0 CIEES




1901 B B =) 1000.0 0.0 =
1902 e =) 1000.0 0.0 =
1903 2L A e 10-7~10-9 10Hz~2GHz & 1600.0 0.0 IS
1904 TR 10-7~10-9 DC: ~1000 MHz =] 1600.0 0.0 =
1905 EEER &S =) 400.0 150.0 IS
1906 6B AR AX =) 400.0 150.0 =
1908 AR R AL & 400.0 150.0 IS
1909 B S AR AX =) 400.0 150.0 =
1910 AU R REE S AR X = 400.0 150.0 I
1911 e AU A R X =) 400.0 150.0 CEEES
1912 FHe G A R = 400.0 150.0 IS
1913 B S R A (0.5-30)MHz =) 400.0 150.0 =
1914 B S R AX (0.5-30)MHz & 400.0 0.0 IS
1915 BT AR A 0.005 DC~1000MHz =) 1600.0 0.0 SR
1916 BT AR I 2% 2%, 0.01% DC: ~500MHz & 800.0 0.0 IS
1917 BTN A 0.005 DC~1000MHz =) 1600.0 0.0 SR
1919 N & 2%, 0.01% DC: ~500MHz & 800.0 0.0 IS
1920 TR A +3% 300~1000MHz =) 640.0 0.0 AR E
1921 A& +3% 100~300MHz = 640.0 0.0 =
1922 TR A +3% DC~100MHz =) 400.0 0.0 AR E
1923 AP RARE, $F) +6x10-3 (1~3600)s & 220.0 0.0 IS
1924 HL T fb R 1x10-6 0.01s-1d H 160.0 0.0 AR E
1925 FEERES 1x10-4 1ms~600s = 200.0 0.0 =
1926 HUbRAD K 0.01s 1s-60min H 100.0 0.0 AR E
1927 =T = 560.0 0.0 IS
1928 =R 10-5~10-7 0.01ms-9999.9s =) 560.0 0.0 AR E
1930 B N 10-5~10-7 0.01ms-9999.9s & 560.0 0.0 LIS
1931 HL TSP AN 1x10-7 0.1ms~10 s =) 520.0 0.0 H 22 =
1932 ] 1 H PE A = 500.0 0.0 =
1933 TH AR T A7 R BEAE R A & 700.0 0.0 H 2=
1934 FeHh % PR A = 500.0 0.0 IS
1935 FHb A1 AN =) 500.0 0.0 H 2=
1936 25 FH A 47 e b e BELN 3R = 500.0 0.0 IS
1937 FHLIB P BELASC & 300.0 0.0 H 22 =
1938 P BEAX = 300.0 0.0 =
1939 R T H RS EAX & 800.0 0.0 H 22 =
1941 NN A R = 150.0 0.0 CIEES
1942 B S At & 150.0 0.0 CIEE
1943 Kt =) 150.0 0.0 =




1944 [ ] 4% 2 f b BEL A & 350.0 0.0 IS
1945 T 5 e e BEL X043 =) 350.0 0.0 =
1946 2% fi H BE A =) 350.0 0.0 IS
1947 A e ELYU A L BHI X =) 350.0 0.0 =
1948 e b 5 3 H BELI AN & 500.0 0.0 IS
1949 5 H Aoy 2 2 F L A =) 500.0 0.0 =
1950 B A B = 500.0 0.0 =
1952 21 A FLFEAX =) 500.0 0.0 =
1953 HL 2 - 5 2 L B s B = 600.0 0.0 S
1954 it F 28 1 42 g e A ) 2 =) 800.0 0.0 CEEES
1955 B A B = 500.0 0.0 =
1956 A FH HE 25 3 9 L B A =) 600.0 0.0 SR
1958 et 5] 28 Fd L PH I A = 500.0 0.0 IS
1959 A ] R G =) 300.0 300 CEEES
1960 PRIGE AT L = 300.0 0.0 IS
1961 | HHLZLZ FEZE AR HL BH 2 Y el kA =) 500.0 0.0 SR
1964 B b e BELII A = 360.0 0.0 IS
1965 FERT R 5 AL 400.0 0.0 AR E
1966 f B AL £ = 400.0 0.0 IS
1967 P22 B oo sl X & 600.0 0.0 Hi22 =
1968 LR B uill iR = 600.0 0.0 IS
1969 LR LI 32 S A & 500.0 0.0 Hi22 =
1970 g 2 B A% A 100.0 100.0 =
1971 T 28R [H A% A 100.0 100.0 AR E
1972 AT 2 A = 720.0 0.0 IS
1976 TR NI BHER e I AL & 400.00 300 Hi22 =
1977 TRZE RIS B = 300.0 0.0 FH 2
1978 JEAERLA & G & 300.0 0.0 H 22 =
1979 Rt FEL R P BEL XA = 300.0 0.0 =
1980 B L ORI AR KA & 400.0 0.0 H 2=
1981 JOR o A6 LA A A = 350.0 0.0 =
1982 L BHAY & 400.0 0.0 H 2=
1983 LB BELEE A & 400.0 0.0 HH 2
1984 B HE A L L BEI Y & 400.0 0.0 H 22 =
1986 T BRI A = 400.0 0.0 =
1987 LI H BRI A =) 400.0 0.0 o=
1988 — I ELIA A LA JEIE 400.0 0.0 HH 27
1989 AR I % ELIA L LA & 1600.0 400.0 CIEE
1990 7 B G4 IR TH AL = 300.0 0.0 HH 27




1991 ) 285 L 25 XA = 300.0 0.0 =
1992 DX 2% 0 = 300.0 0.0 =
1993 FE i 194 255 R 238 4R A & 300.0 0.0 FEES
1994 DoY) 2% A =] 300.0 0.0 =
1995 ] £ EEL 20 36 T 0 A0 & 300.0 0.0 FEES
1997 EH T B 3 FL BE A =] 400.0 0.0 =
1998 7 45 B T 4z h L FHAY & 400.0 0.0 G
1999 T 4 F BI04 =] 400.0 0.0 =
2000 % Ty ie e T Ho v BELN A = 700.0 0.0 L
2001 ST T P 2 b R BEL A =) 500.0 0.0 =
2002 R Rt oA 2 EL L R = 500.0 0.0 IS
2003 ) 7% HL BH W AR X JHIE 450.0 450.0 L
2004 AN R 5 HIE 450.0 450.0 M=
2005 TLLRBNAS AR R AR JHIE 450.0 450.0 HLA
2006 A RS 0.5%+3ue (0.1~105)ue HIE 450.0 450.0 M=
2008 B HLFH R AR Y 5% +3p€ (0.1~105)ue HIE 320.0 320.0 HL =
2009 FRAS AR LA A EFE 500.0 20.0 G
2010 A AR R ¢ AR 500.0 20.0 LA
2011 FRAS AR RAE B A EFE 500.0 20.0 G
2012 To 28 B A N AR R A AR 500.0 20.0 LA
2013 S BRI T R St A EFE 500.0 20.0 G
2014 P AR A AR 500.0 20.0 H 2=
2015 i A HL BH S AR X A EFE 500.0 20.0 G
2016 FRAS NARKAE RS AR 500.0 20.0 LA
2017 ToLk s AR R 5 A EFE 500.0 20.0 G
2019 ToLR A B R AR 0.5%+3ue (0.1~105)ue REAER 500.0 20.0 S
2020 B A L BEL N AR 3.0%+5u¢ 0~155u¢ & 500.0 20.0 FH 2
2021 Bl oAl A & 350.0 0.0 L2
2022 TR Tt = 300.0 0.0 =
2023 B R 0.001 = 300.0 0.0 H 2=
2024 HrRRR 0.1Zk LT 10pF-1uF = 270.0 0.0 M
2025 L2 N 4 & 500.0 0.0 L2
. . 10pF-1uF 1pH-1H 1H
2026 HL 75 LR R 0.14% UL F 0.1Q~5%OkQ & 500.0 0.0 .
2027 HUK AR 0.1k LT 10pF-1uF 1pH-1H = 450.0 0.0 M
. 10pF-1pF 1pH-1H 0.1
2028 LCR METER 0.14: A F O~500kQ) = 500.0 0.0 .
2030 FE, B FEL R A 0.1t LR 0.1Q~500kQ 1uH-1H =) 500.0 0.0 ke
2031 FH RN 4 0.1 LA N 1uH-1H = 450.0 0.0 HAE =




2032 J3BE FLME

2033 LCRIIALX o ©40.0 0.0 LS
2034 E 2 AR I 540.0 0.0 M 2r s
2036 Bk 2 LCRILA X o 540.0 0.0 T
2037 B I 540.0 0.0 M 2r s
2038 P P CREL = HL b 0 540.0 0.0 HLSE
= 540.0 0.0 e

2039 LCRE 7 FEMF 0.1 UL F 10pF~1pF  1pH~1H ..
_ __ 0.1Q~500kQ H 540.0 0.0 p
2041 B BB A 0.12%-0.05% — 5
2042 LA H B A ;;fa%a 540.0 0.0 (R
2043 e 0.02%% 3 iﬁ; 350-0 350.0 IR
2044 2 HL B A "(1.0~3.0) %" 001010000 = AE 238-8 350.0 @ig
2045 E 0.2-5)% 102010120 5 o 0.0 itk
2046 B AR A 0.1% 0.010—1000Q p 0 0.0 B
2047 T 1 % P BEL A 1T b 4500 0.0 Y
2048 EETAENIER R 01%4 0L F L 270-0 0.0 B
2049 K Th 23t i BELI A 1.0% . F (0.05-05)0 = 2;8-8 0.0 @ié%
2050 BRI 1.0 ~5% 0~2000Q RN 70 0.0 Y
2052 LT 0.1% LT = 300-0 30.0 IS
2053 WL b 0.02%% 10-30-1020 % 808'8 0.0 EFE
2054 ELi L 0.5 VLT 10-5Q~106Q ra 180.0 00 Eﬁjé
2055 RGN (0.1~0.2)% 10-5Q~106Q 3 300. = Egi:%
2056 FLIfL LR 0.05%% 10-20-1050 = S 1.9 it
2057 FR L 0.02% 10-20-1040 5 450. s itk
2058 PR AL 0LZLLLT 02111111V r T 225.0 i
2059 B A ZE T 0.05% (0~2.111111)V = 0. 0.0 Eﬁjg
2060 LA ZE T (0.01~-0.02)% (0~2.111111)V % 350'8 o= %ig
2061 s 0.1 LL | (0—2000) A o = 0.0 IEES
2063 FLY L P A 0.1 LR 10-2Q~105Q & z 0'0 0.0 %i?;
2064 FL U LA (0.01~0.05)7% 10201050 5 = 2.0 S
oot b 0.2 R PA T 7 %00 o e
66 Pt L PH ~ 7 — - : . 2
067 T (0.01~0.02)% 10-30~105Q H 90.0 0.0 e
S Al 90.0 0.0 e
2068 FafE HLPH 0.05~0.2% 10-3Q0~105Q A 900 =
2069 bk L 0.05% 1.01855~1.01868V o ' 0.0 it
TR : A 100.0 100.0 e
2070 RV 0.02% 1.01855~1.01868V 5 1000 et
2071 bt i (0.005—0.01)%%__|_1.01855—1.01868V o : 100.0 A
2072 A : = 130.0 130.0 Y
2075 LKL AL L 600.0 0.0 H S
= 800.0 0.0 TS




2076 LKA & 800.0 0.0 IS
2077 i & KAEHL =) 800.0 0.0 =
2078 Eii KL = 800.0 0.0 =
2079 L2k HL 45 KB RIS L & 800.0 0.0 CIEES
2080 R4 KT & 800.0 0.0 IS
2081 KAEIAISHL =) 800.0 0.0 =
2082 THKAEHL = 800.0 0.0 =
2083 i F IR A & 500.0 0.0 CIEES
2084 RN S = 640.0 0.0 I
2086 e R =) 640.0 0.0 SR
2087 mE RS = 640.0 0.0 IS
2088 A2 (F) i R B =) 600.0 0.0 SR
2089 2 25 (T8 I R A = 600.0 0.0 IS
2090 YHI 28 L BRI =) 500.0 0.0 SR
2091 e T AR R A = 600.0 0.0 IS
2092 | SEAbEE T AR TS I & 600.0 0.0 CEEES
2093 | b A H A EE I = 600.0 0.0 IS
2094 X E R R 100kV~150kV =) 1000.0 500.0 AR E
2095 2 EL I 0 5 100kV~150kV & 1000.0 500.0 IS
2097 R e s DN 100kV~150kV =) 1000.0 500.0 AR E
2098 e R A 100kVLL R = 800.0 500.0 =
2099 LA 156 2 B 100kVEL R = 800.0 500.0 AR E
2100 LA s 136 1 7% 100kV DL T = 800.0 500.0 IS
2101 i i A A DA & 600.0 0.0 Hi22 =
2102 AP A BT AR P A = 600.0 0.0 IS
2103 A BB R A & 600.0 0.0 Hi22 =
2104 Bk ds 100kV~150kV = 1000.0 500.0 222
2105 43 R B A 100kV~150kV =) 1000.0 500.0 H 22 =
2106 2 B B A 100kVLL R = 800.0 500.0 =
2108 5 [ 73 s 100kVEL R = 800.0 500.0 H 2=
2109 e A K — 600.0 0.0 IS
2110 A2 i B PTIRAX & 600.0 0.0 H 2=
2111 R FEALEL 22 BTl A = 600.0 0.0 IS
2112 AR s 7S Al A & 600.0 0.0 H 22 =
2113 e 56 FEL = 600.0 0.0 IS
2114 Ak HL LRI R S 124H 2000.0 0.0 o=
2115 Zk FL ORI A = 1000.0 0.0 CIEES
2116 A B RE T AR I A & 600.0 0.0 2
2117 | AR ZHRPEAD HAR M 25 A DA = 600.0 0.0 CIEES




2119 AR LR A A = 600.0 0.0 =
2120 R AR R DAY & 600.0 0.0 CIEES
2121 FHL 25 LRI A = 500.0 0.0 =
2122 LA R A e R I 2 100kV~150kV =] 1000.0 500.0 =
2123 IR 70 [ i e R i R 100kV DL T = 800.0 500.0 IS
2124 W i 4% 2 I A =) 800.0 0.0 =
2125 e B T M LCRE P XA =) 800.0 0.0 IS
2126 1 T S B AR DA =) 800.0 0.0 =
2127 4 H 5728 EL AL R = 600.0 0.0 I
2128 AR LU 2H 510 =) 600.0 0.0 SR
2130 AR LA A = 600.0 0.0 =
2131 28 2% A o A =) 600.0 0.0 SR
2132 26 25 I A L AR A = 600.0 0.0 =
2133 AR AR AR A =) 600.0 0.0 SR
2134 PUEPA RN = 600.0 0.0 IS
2135 S AR AEI A =) 600.0 0.0 CEEES
2136 A R AFEI A = 600.0 0.0 IS
2137 AR ER I PR A0 5 100kV~150kV =) 1000.0 500.0 AR E
2138 AR OB R0 2 B 100kV DL T = 800.0 500.0 IS
2139 IR AL 2 B 100kV~150kV =) 1000.0 500.0 AR E
2141 IR AR E 100kVLL R = 800.0 500.0 =
2142 B s R AR 100kV~150kV =) 1000.0 500.0 AR E
2143 L i B R A A 100kVLL R = 800.0 500.0 =
2144 Y W A A 100kV~150kV =) 1000.0 500.0 AR E
2145 220 1 R A6 AR T A 100kVLL R = 800.0 500.0 =
2146 = i A & 300.0 0.0 Hi22 =
2147 2% T H BH A = 270.0 0.0 =
2148 SR A0 e s A 2 =) 600.0 0.0 H 22 =
2149 22 e R A A = 600.0 0.0 IS
2150 — A T R A A =) 600.0 0.0 H 2=
2152 KR A 2000ALL K = 600.0 0.0 =
2153 B mER 100kV~150kV =) 1000.0 50.0 H 2=
2154 HermlsE 100kVLL =) 800.0 50.0 Lo 5
2155 AN EE R A & 500.0 0.0 H 22 =
2156 To L 5 EAZAHAX = 600.0 0.0 IS
2157 NARESDZE &I & 500.0 0.0 H 22 =
2158 L LA 0.1t LR 0~10kV He 180.0 0.0 =
2159 HL LRk A 0.1~0.5% 2KALL T H 90.0 50.0 o=
2160 24 25 i BELII R = 500.0 0.0 CIEES




2161 7 2 A =) 500.0 0.0 =
2163 B R JRRREE X 500.0 0.0 L
2164 T TES EN 500.0 0.0 LS
2165 B IR R He 500.0 0.0 =
2166 B G BH R 0~200GQ H 500.0 0.0 G
2167 #a2 HIH R 1% VLF 0~200GQ B 70.0 0.0 HLA
2168 FUAH HEL R AR R = 690.0 0.0 =
2169 2 R L HL I A =] 280.0 0.0 =
2171 27 A HL A8 2 1 S DA = 550.0 0.0 I
2172 i s A AR =) 550.0 0.0 =
2173 i J it S A 15kv & UL R = 950.0 0.0 =
2174 e R I IR =) 900.0 0.0 =
2175 BT RE1E 5T = 400.0 0.0 =
2176 M2 A 4 A OB H 25 & 300.0 0.0 H o 2
2177 FEL 2% 2 B0 1) i 3000 X3 = 550.0 0.0 =
2178 T FEL R 2 A & 400.0 0.0 L
2179 ARG SR = 800.0 0.0 G
2180 A0 I i 5 G 2 50kVLLF & 700.0 0.0 LA
2183 N i o I e B 10kVLL R = 550.0 0.0 =
2184 BFHER A 400.0 0.0 LA
2185 W HLZE = 50.0 0.0 =
2186 I HL FEL RIS & 280.0 0.0 LA
2187 BOE HER 0.5 K UL R = 160.0 0.0 =
2188 BRI R 0.5%% K UL~ =) 160.0 0.0 H 2=
2189 AR R 447 2F = 800.0 0.0 =
2190 | HEZENLANE LR A G & 500.0 0.0 LA
2191 P HLE LR = 500.0 0.0 =
2192 SERTTY =) 500.0 0.0 H 22 =
2194 IR IIHUR S5 AL B 200.0 200.0 =
2195 i R R i R oy AR & 300.0 0.0 L2
2196 Vet 1 H I B EAX 618 IE 720.0 120.0 =
2197 B RE HL I S AL & 800.0 0.0 L2
2198 A AT i e = 600.0 0.0 HH 2
2199 WAL RS P HL s L A 800.0 0.0 L2
2200 SRS s HUR FLR 600.0 0.0 S
2201 K5 2 Y 2 AR A4 I A i & 550.0 0.0 HL o
2202 AR I i B i s PR = 550.0 0.0 HH 27
2203 HEL RG24 PR R AR B & 700.0 0.0 HL o
2205 | il ) EBLES RIS & 500.0 0.0 HL A




2206 EhKEFLIRIRAL = 500.0 0.0 =
2207 ZiERIn G =) 600.0 0.0 =
2208 FHLYHb 43 15643 & 300.0 0.0 IS
2209 | Hr s R H ORI 2R A =) 400.0 0.0 =
2210 [ i) i s AR A =) 700.0 0.0 IS
2211 &5 Rt R AR R B A4 & 400.0 0.0 CIEES
2212 Fe s FEL YR XIEIE 1000.0 0.0 =
2213 0 gk LSS FE YR =] 600.0 0.0 H2e =
2214 s EE BEL I XA = 400.0 0.0 =
2216 T Hth = S UG 5 A 0.1° =) 300.0 0.0 CEEES
2217 i U DR = 700.0 0.0 =
2218 i R A v 50kVELL R =) 700.0 0.0 SR
2219 22 it s AN = 700.0 0.0 IS
2220 i A (22 B = 700.0 0.0 SR
2221 it A = 550.0 0.0 =
2222 ZE I RS R St =) 700.0 0.0 SR
2223 fii IR AL = 700.0 0.0 IS
2224 i s 16 A 10kVLLF =) 550.0 0.0 AR E
2225 L i B i 2 3R = 200.0 0.0 =
2227 B 2= & 400.0 0.0 Hi22 =
2228 LA s 136 14 7% 100kVLLF = 700.0 0.0 IS
2229 L s 156 1% % 10kVLLF =) 550.0 0.0 AR E
2230 P fi i 2 — = 600.0 0.0 IS
2231 b 28 A =) 350.0 0.0 AR E
2232 KH R A 2000ALL K = 600.0 0.0 =
2233 e B AR IE H e & =) 600.0 0.0 AR E
2234 | ARIDFRRBLRFR (IhER) cos®=0.2 & 475.0 0.0 LIS
2235 % FH i s A3 & 550.0 0.0 H 22 =
2236 TR TR AL 5000A = 810.0 0.0 =
2238 EIESSEES =) 300.0 0.0 H 2=
2239 LEMEBF IR & 1500.0 0.0 IS
2240 B (TR0 Lt/ H s /D =) 700.0 0.0 H 2=
2241 T ER = 500.0 0.0 =
2242 LI IR 0.012%~0.05%% = 240.0 0.0 H 22 =
2243 LA R 0.12~0.5%% = 150.0 0.0 IS
2244 LI HEIRER 1L.OZ LT = 80.0 0.0 o=
2245 LA R R 0.01%¢~0.02% = 560.0 0.0 CIEES
2246 LI HER 0.05%%~0.2%% = 200.0 0.0 o=
2247 LA R R 0.5%~1.0%% = 160.0 0.0 CIEES




2249 ELECT R 0-2A z
2250 T AR R =) 300.0 0.0 FHE
2251 IREHIARE TOG UL T - 310.0 0.0 HIZE =
2252 TREHIARSR 0.05%(~0.5% = . 310.0 0.0 H A%
2253 TRTER 0.1 L bL | 0—10MQ EA TR 310.0 0.0 s
2254 i P A R X = 130.0 0.0 S
2255 AL = 350.0 0.0 (RS
2256 B 2 (FIR) /EI\ 400.0 0.0 H A%
2257 TRE PR (RIR) 15-507%% /l\ 130.0 0.0 HL2
2258 | BRI () 571 - 100.0 0.0 S
2260 %A T AR X 1024 LI 10KV = 600.0 0.0 o
2261 BT AR 57 10kV a 600.0 0.0 (S
2262 T JE B A 5 10KV = 500.0 0.0 %
2263 i FE ke DL 3% 10KVLL T p 600.0 0.0 A
2264 A AR 2.0~5.0% 110/220V, 5/10A AR o 0.0 it
2265 LA AR 2R 1.0~1.5% 110/220v’ 5/10A ;EZIE = 1900 0.0 ke
2266 THUF AT & 052 RN T 000 = atfecs |
2267 B 1) 22 A TR e EZIE e 180.0 0.0 e
2268 ENIEEAEL s 0.5% 178 o ;Eii{% 2300 0.0 s
ZES B . YAy

2069 | iR HLRIIF AR MR (0~500)V  (0~50)A| & - L
227 = L I R ) = 450.0 0.0 o
1 2 MR S 5 R A 0.05%% % LA F = HLE
2272 (S 5 R o 0.05%% J LI F = 580.0 0.0 7
2273 PN o 300.0 0.0 2
2274 Rt o 180.0 0.0 22
2275 PR ENGIIEE 10507 EXEE 270.0 270.0 o
2276 FL BT R R 0.1Z% % LI 0~1000V o 130.0 0.0 e
2277 E BT HER 0.01~0.05% 0~1000V P 160.0 0.0 LR
2278 BT L% 0.005%% 01000V = 400.0 0.0 ¥R
2279 ERBTLER 0.001%% 0—1000V - 500.0 0.0 s
2280 PR B & 0.0005%% 01000V - 600.0 0.0 R¥E
2282 TE R R =) 980.0 0.0 HLE
2283 F, IR L 300.0 0.0 T
2284 R e B R L 300.0 0.0 LY
2285 A5 [ A FEL B R A L 400.0 0.0 HL2E
2286 ol 4 R A L 1000.0 0.0 LY
2287 Tl 4% HLUFE MR AY L 600.0 0.0 xS
2288 LA L 75 U LR IR £ = 500.0 0.0 B
2289 e 0 400.0 0.0 e
5 700.0 0.0 e




2290 LI BRSO A & 500.0 0.0 M=
2291 | AR HBmE CGEED = 600.0 0.0 HLA
2294 = FH I HE A = 400.0 0.0 ML
2295 B A S B = 700.0 0.0 =
2296 L2 R HAL YL EL R D 3 = 700.0 0.0 M=
2297 AE B L2 AN = 1500.0 0.0 HLA
2298 LI FELFRE ) 1.0 K AT 0~1000V, 0~20A B 50.0 20.0 M=
2299 LImNERFEH ) 0.5% 0~1000V, 0~20A LA 100.0 25.0 2% 2
2300 LI FELFRE ) 0.2%% 0~1000V, 0~20A A SR 180.0 60.0 M=
2301 IR R (G E ) 0.1% 0~1000V, 0~20A AR 230.0 60.0 HLA
2303 BRI ELFRH ) 1.0 % LT 0~1000V, 0~20A e 50.0 25.0 M=
2304 ELRDIE LR ) 0.5%% 0~1000V, 0~20A AR 100.0 25.0 i 2F =
2305 BRI ELKFRH ) 0.2%% 0~1000V, 0~20A RAERE 180.0 60.0 M=
2306 AT HL R R (R E ) 1.0 K% UL 0~1000V He 50.0 0.0 HLA
2307 T ERGER ) 0.5% 0~1000V AR 80.0 25.0 ML
2308 T HEER AR ) 0.2% 0~1000V A B FE 100.0 40.0 H2e =
2309 T ERGER ) 0.1%% 0~1000V AR 180.0 75.0 ML
2310 Him L ERGEEH D 1.0 & LT 0~1000V B 50.0 0.0 HLA
2311 E B ERGEEH ) 0.5%% 0~1000V AR 80.0 25.0 M
2313 Him L ERGEEH D 0.2% 0~1000V FEAEM 100.0 40.0 HLA
2314 H B ERGEEH ) 0.1% 0~1000V AR 180.0 75.0 M
2315 LRI R R E ) 1.0 K UL 0~20A He 50.0 0.0 HEE
2316 iR CiER D) 0.5%% 0~20A AR 80.0 25.0 M
2317 LRI R R E ) 0.2% 0~20A AR 100.0 40.0 HEE
2318 TR R ) 0.1% 0~20A AR 180.0 75.0 M
2319 B RRdEE ) 1.0 K UL 0~50A He 50.0 0.0 HEE
2320 EL R (dRE ) 0.5%% 0~50A A B 80.0 25.0 FLAE =
2321 FER N e CiER Y] 0.2%% 0~50A AR 100.0 40.0 =
2322 EL R (dRE ) 0.1%% 0~50A A B 180.0 75.0 L=
2324 JER/ YA = 500.0 0.0 =
2325 —AHEDE B S E0a A = 900.0 0.0 M
2326 HL R = 400.0 0.0 =
2327 AL R = 450.0 0.0 M
2328 W ®AL = 900.0 0.0 =
2329 H1 ) SR AX = 900.0 0.0 M=
2330 & Y & 400.0 0.0 B
2331 5 I3 H T FE A A = 1000.0 0.0 =
2332 | B A IR H I R R & 500.0 0.0 HEE
2333 BRI = 1500.0 0.0 =




2335 L R AR & 800.0 0.0 IS
2336 R E R =) 800.0 0.0 =
2337 P AR AR & 500.0 0.0 IS
2338 %2 DIRe ISR IAX =) 450.0 0.0 =
2339 ks DA BT A =) 900.0 0.0 IS
2340 2H A2 B IRAN =) 1000.0 0.0 =
2341 eI A & 400.0 0.0 IS
2342 718 0 BT A =) 900.0 0.0 =
2343 L HL R IR A = 1000.0 0.0 I
2344 TREHFEAX =) 500.0 0.0 SR
2346 WA = 500.0 0.0 IS
2347 B HL B A =) 500.0 0.0 CEEES
2348 2 DR By BRI = 500.0 0.0 IS
2349 TR S TR =) 500.0 0.0 SR
2350 T2 TR A = 1000.0 0.0 IS
2351 [ IR A6 =) 1200.0 0.0 CEEES
2352 % BHiE SRR = 1400.0 0.0 IS
2353 FEL N 7 35 4 I 37 AR B A =) 1000.0 0.0 AR E
2354 FHL . FEL LA T 7 = 1000.0 0.0 L
2355 {548 T 2 BRI AN & 1200.0 0.0 Hi22 =
2358 B ZHE 617 = 1600.0 0.0 =
2359 BrZ & 5{z 3 =) 800.0 0.0 Hi22 =
2360 HrZHER Ahi (5D & 450.0 0.0 L
2361 BrZ & 472 =) 400.0 0.0 Hi22 =
2362 B ZHE 3 = 400.0 0.0 =
2363 GG HTAX =) 900.0 0.0 AR E
2364 B B oA e 2 = 600.0 0.0 FH 2
2365 HL P RE 2R A A & 900.0 0.0 H 22 =
2366 YRt 11595 P F A 6iEIE 720.0 120.0 HH 2
2368 H AR IS 1 A & 800.0 0.0 H 2=
2369 B KA 2% & 500.0 0.0 HH 2
2370 vk E 1 B R 2R Gt 8ifIH 1600.0 200.0 H 2=
2371 AR FL YR = 800.0 0.0 =
2372 FHiAE 5 =) 600.0 0.0 H 22 =
2373 MIFE = 200.0 0.0 =
2374 S L H AT IUAY & 280.0 0.0 H 22 =
2375 PR vHE HL VL R R A A = 1000.0 0.0 =
2376 | =ikE A H B A S kR R YR & 500.0 0.0 CIEE
2377 E R IR =) 500.0 0.0 =




2379 HL S ZE A IIHRAX = 900.0 0.0 =
2380 AR A DI BT A =) 900.0 0.0 =
2381 B bR AL HLE I R AR AR & 900.0 0.0 IS
2382 JEFE MRS A 2% =) 100.0 0.0 =
2383 Hi e L FE A AT A =) 800.0 0.0 IS
2384 el IR =) 800.0 0.0 =
2385 i 5 AR R A2 & 600.0 0.0 IS
2386 TR IR S 4 = 400.0 0.0 =
2387 kA H A kR R A = 500.0 0.0 I
2388 el 4% FEL IR A =) 400.0 0.0 CEEES
2390 FLAL N 2 = 200.0 0.0 IS
2391 BEHE = 800.0 0.0 SR
2392 PIEES = 280.0 0.0 =
2393 (I E R E LA & =) 500.0 0.0 CEEES
2394 2% fi HL A A = 400.0 0.0 IS
2395 JER N HE S A =) 500.0 0.0 SR
2396 {545 08 L FE IR = 500.0 0.0 IS
2397 FAL 255 e P A & 1000.0 0.0 Hi22 =
2398 AR R = 600.0 0.0 =
2399 R R 0.05%% L T =) 800.0 0.0 AR E
2402 R AR 0.012¢~0.05% = 1200.0 0.0 =
2403 TG SRR =) 600.0 0.0 AR E
2404 TG SRR 0.052¢ LN = 800.0 0.0 =
2405 TG SRR 0.01%¢~0.05% & 1200.0 0.0 LA
2406 TR AN = 600.0 0.0 =
2407 TR AN 0.05%% L T =) 800.0 0.0 AR E
2408 AR IR AN 0.014%~0.05% & 1200.0 0.0 LIS
2409 2 D Re s G HE I oy =) 400.0 0.0 H 22 =
2410 BRI LTIGIEE 2% = 400.0 0.0 =
2411 72 ] B TR 2 R 40 & 400.0 0.0 H 2=
2413 ZZ i LR = 400.0 0.0 =
2414 HHENL =) 400.0 0.0 H 2=
2415 EHVERL = 400.0 0.0 =
2416 HL AR L =) 400.0 0.0 H 22 =
2417 FHLVAL HE R 22 5k & = 600.0 0.0 IS
2418 n] Y ke S AR IR =) 500.0 0.0 o=
2419 EEENIRE o0 = 550.0 0.0 CIEES
2420 WAE R IBT 2 25 2 25 DAY & 500.0 0.0 CIEE
2421 I 57 W7 1% s SE ) JEIE 200.0 200.0 CIEES




2422 M HRZE AR & & 500.0 0.0 M=
2424 HATh R = 1000.0 0.0 (T
2425 —AHAT IR AH A & 200.0 0.0 5 e
2426 FeREAL HLE = 500.0 0.0 HAE =
2427 R Y = 500.0 0.0 FL 2
2428 1 20 24X = 700.0 0.0 IS
2429 Z HERREAL = 1000.0 0.0 ML
2430 fEH#E A Z TR A = 1000.0 0.0 =
2431 — I RBHEI DCV:0.05% & 1000.0 0.0 HE =
2432 % DIRe B HEYR = 3000.0 0.0 =
2435 FrAadth AR A a 1500.0 0.0 HLo
2436 EH R AR AL AR 22k & 600.0 0.0 W 222
2437 HL BB T = BT A = 1000.0 0.0 ML
2438 ARSI AT LR 1.0% & UL N = 240.0 0.0 HL =
2439 — MR ECT B R 0.01%~0.05% & 450.0 0.0 FHL 57 =S
2440 — AT R =) 450.0 0.0 HL
2441 X3 B bl B A = 450.0 0.0 L E
2442 BRI ORI = 600.0 0.0 LA
2443 Wit =RE (0.5~2.5)% Vf:’ 0(_)5 ;?/Q“QOHSV = 1300.0 0.0 .
2444 &RE (0.5-2.5)% vf:: o?ségq\gngv a 1300.0 00 2%
f: 0~100MHz
2446 R (0.5-2.5)% V: 0.5mV~300V & 6409 00 ket
2447 RO A A +(5%~0.1%) DC: ~20MHz =) 580.0 0.0 e
2448 PREUR A A 0.05 1Hz-2MHz = 450.0 0.0 LA
SR . 01~ V
2449 5T RS (goojszl\% = 700.0 0.0 .
2450 IS 5 KA +(0.1~1)% ﬁ%ﬁ.ﬁjﬁf&! = 700.0 0.0 .
2451 A2 2 R 8 #(0.02~0.3)% (o1 & 900.0 0.0 s
2452 RSG5 kA 0.1 20Hz-200kHz G 540.0 0.0 222
2453 XL AR DL 0.02 150~400kV = 700.0 0.0 (RS
2454 ENEE T 1, 2% =) 400.0 0.0 HL
2455 N Yakill iy 1, 27 & 400.0 0.0 22
2457 g 75 AT 3 AT A 1, 2/ & 750.0 0.0 222
2458 2 ThRE S it 1, 2% = 750.0 0.0 HEE
2459 W it 1~5%! = 700.0 0.0 =




2460 I 75 5 1T AT A 1, 27 & 750.0 0.0 M=
2461 By Bt 1, 2M = 1100.0 0.0 HLA
2462 AR 1, 27 & 400.0 0.0 M=
2463 PR HERR 1. 2% = 270.0 0.0 HLA
2464 HLAEALIN A & 360.0 0.0 M=
2465 PR EAX 5x104 0-10V,0-2000mA = 360.0 0.0 HLA
2466 H R 2 R A 1x10-3 0-380V,0-60A & 630.0 0.0 M=
2468 HOEARALR 1.0%% = 630.0 0.0 HLA
2469 [ AR B A 0.5%% = 800.0 0.0 ML
2470 Z DI 54 0.2% 0-600V,0-20A = 700.0 0.0 HLA
2471 TIMBT R E 1.0% KLU T = 70.0 0.0 ML
2472 LA IR 0.01%~0.05% = 270.0 0.0 HLA
2473 B AR A 400.0 0.0 M=
2474 et AR A 130.0 30.0 HLA
2475 — IR T (0.1~0.5)%% 0~600V, 0~100A = 540.0 0.0 L
2476 PAHBCTF DR S A (0.1~0.5)%% 0~600V, 0~100A = 360.0 0.0 HLA
2477 —AEHTF IR (0.1~0.5)%% 0~600V, 0~100A H 630.0 0.0 M=
2479 Vb EESS (0.02~0.05)% 0~600V, 0~100A = 800.0 0.0 HEE
2480 L ERIESS (0.1~0.5)%% 0~600V, 0~100A = 450.0 0.0 M=
2481 PAHBTFIER (0.02~0.05)%% 0~600V, 0~100A = 540.0 0.0 S
2482 T HIER 0.05~0.2%% (0~1000)V = 230.0 0.0 M
2483 T HER 0.01~0.02%% (0~1000)V = 630.0 0.0 LA
2484 Hinf e mmE 0.01 K& VLR 0~2A & 360.0 0.0 M=
2485 FPRAEDAS 25 0 R 0.5% (0~600)V (0~100)A = 700.0 0.0 LA
2486 — AR AR 0.5%% (0~600)V (0~100)A = 1000.0 0.0 M=
2487 Frr A= H R 0.05%% (0~10)A = 900.0 0.0 S
2488 — AR AE DRI 0.05~0.5 % (0~1000)V, (0~30)A = 800.0 0.0 M=
2490 —AHARAE DRI 0.002~0.01 % (0~1000)V, (0~30)A = 900.0 0.0 HLA e
2491 IENRIR SIS 0.1 (0~1000)V, (0~30)A = 450.0 0.0 M
2492 ELbR D) R 0.01~0.05%% (0~1000)V, (0~30)A = 700.0 0.0 HLA e
2493 IERI R S 0.005~0.02 (0~1000)V, (0~30)A = 900.0 0.0 M=
2494 Ll RES 0.05~0.5 % (0~1000)V, (0~30)A = 630.0 0.0 =
2495 FA A bR HE T 2R 0.002~0.01 % (0~1000)V, (0~30)A = 700.0 0.0 M=
2496 AR E R R 0.01Z% UL F (0.1~1000)V = 800.0 0.0 =
2497 bR A R R 0.005% LA~ (0.1~1000)V = 900.0 0.0 M=
2498 ELAbR #E R TR 0.005% ~0.001% (0~1000)V = 800.0 0.0 HLE
2499 ELbr A R R 0.0005 % ~0.0002 % (0~1000)V & 900.0 0.0 =

5 U A T = 383 383 k=

6 Z Diie SRR = 425 425 FRALE




7 SRR 2R 0-100PPm & 595 595 P E

8 Al A I e 0-100PPm & 595 595 L=

9 —EA IR, AR X 0-100PPm. 0-5% & 425 425 PR E
10 — A AR D AR e 0-100PPm & 425 425 L=
11 AR R 2R 0-30% & 425 425 PR E
12 RS ARETI HR es 0-100%LEL & 510 510 L=
13 % DyRe SRR =) 1700 0.0 PR E
22 R E )i 1200 1200 L=
23 W A AR TS =) 2000 0.0 FEALE
27 HLF A 0.2%-5% (5xE-2-E4uS/cm & 400.0 0.0 HALE
42 R A & 900 0.0 FEALE
522 AR AT 0.05 g 1200.0 500.0 L=
1296 | AR XUE I I T Sl A6 I e A 0°C~100°C = 700.0 300.0 FEALE
1297 ARG R 7 3 7 A S A 0°C~100C =) 700.0 300.0 L=
1298 L 5 U T A e A 0°C~100°C = 700.0 300.0 FEALE
1299 18] ek R 9 T A A A 0°C~100C & 700.0 300.0 L=
1300 2 GE AR I T 2 A 0°C~100°C = 700.0 300.0 FEALE
1301 FHL G 25045 0 77 A R B8 A 0°C~100C & 400.0 200.0 L=
1302 Wi T B RRG EEAX 0°C~100°C = 400.0 200.0 FEALE
1303 AL P A 0°C~100C & 400.0 200.0 L=
1838 — R AR A BT A 0-100ppm, 0-5% Bk 450.0 0.0 L=
1839 H 2l LA FEAX 0.05 0~1000mV 5 900.0 0.0 P E
1840 B 0.001pH 0~14 = 450.0 0.0 b=
1841 iR LES EES = 900.0 0.0 P E
1842 UM RS — TSI A r#E77 < u & 1800.0 0.0 FEALE
1843 R IRAK X 5%~ 10% (20~1000)uL/L = 360.0 0.0 Hfh=
1844 FHEE 0~80% & 270.0 0.0 AL =
1846 | AN (LLAMEELSO A. B. C% 4000-250cm-1 & 400.0 0.0 P =
1847 B D137 54X 3x10-4 1.3~1.7 & 360.0 0.0 AL =
1848 PrUEJEN Jr 300.0 0.0 L=
1849 RHOLIE A 200~700nm Fr 250.0 0.0 AL =
1850 T e 0.2nm,— % a] JEIX Jr 310.0 0.0 L=
1851 B bR o BT (X 0.03 %% E£0.00~2.00 & 540.0 0.0 HiL=
1852 P T 2e 1R 22 £5% 400NTU & 450.0 0.0 P =
1853 ESEA S e e bE R T 0.01~0.05%% (-45°~+45°) & 540.0 0.0 AL =

. "Cu: 1.5%~5%Cd:

1857 JE I e A%~ 10%" = 900.0 0.0 FAY %
1858 XK ANy e e T 0.5~1.0nm, [ ~IV 190~850nm & 900.0 0.0 PRI =
1859 LIS ViV Ra 0.5~2.0nm, | ~IV 190~850nm 5 630.0 0.0 AL




1860 — AR R AR 0-100ppm Wk 450.0 0.0 k=
1861 AT R A 0-30% Rk 450.0 0.0 L=
1862 T AL SR 2 0-100ppm Rk 630.0 0.0 PR E
1863 AT PR AR I 2 0-100%LEL Rk 540.0 0.0 L=
1864 SRR 2R 0-100ppm Rk 630.0 0.0 PR E
1865 Al W e T 1~3nm,1.2.3.4% 330~800nm & 450.0 0.0 L=
1866 BRI 0.2~0.001 pH:0~14 & 270.0 0.0 B
1868 HiEETH (200~10000) mpa-s B 310.0 0.0 PRALE
1869 S RN <5x10-10g/s Fer il #% 1100.0 0.0 FEALE
1870 VRAH €184 0.05 1x10-12?100% =) 1100.0 0.0 L=
2433 PHAS & 1X = 900.0 0.0 L=
2587 TRIEHERU A I AL 3%~5% C0:0-5% HC:6400ppm = 1700.0 0.0 F 5
33 RGN (400-1000) mL/¥X = 500 0.0 By A o0
65 FELRRE 5 23 HTAX & 600 0.0 27 Rl O
296 L7 0 i +0.5kPa (0~40)kPa 80.0 0.0 &7 A O
297 I T OKER) I T +0.5kPa (0~40)kPa = 25.0 0.0 %7 A O
e (0-150) ‘C, (1-
1048 HL AR 7] 28 VR OK TR 1.8)MPaZfl<1m3 = 540.0 300.0 BE R
1669 Jik 2 20 25 R D 2K OK A >40L & 800.0 400.0 [y 7 AN T 0
1696 | FHEAATMIE S 785K H 25 <18L = 400.0 0.0 7 AN O
1698 AL +25% (0-1000) ml/¥x = 500.0 0.0 [T AR
1699 REH AR 5] 2% 2.5%% (-0.1-0)MPa = 200.0 0.0 PRy 7 A R O
1700 MBI 5] 3 2.5% (-0.1-0)MPa = 200.0 0.0 &7 Al 0
1701 ok FE B S L A2 A = 400.0 0.0 By 7 AN P 0
1702 0L B P A R A =) 400.0 0.0 [T AR
1703 I 557 B 285 = 1500.0 0.0 [ J7 AN 0
1704 RS ﬁ"fW‘x & 500.0 0.0 By 7 AN P O
1705 O R E = 500.0 0.0 [y 7 AR
1706 @ﬁﬁ%”fiﬁz”ﬁm 0.05 0.05~200HV & 400.0 0.0 By 7 A4S P O
1707 T ] R, R 1w 0~500W = 2000.0 0.0 P J7 AN Fp 0
1708 FE AL ] 1W 0~500W & 1000.0 0.0 By 7 A4S P O
1709 | ARG RS (MRD 0.05 0~3T = 3100.0 0.0 [y 7 AR
1710 B REIRAE 0.01°C 0~50°C & 2000.0 0.0 By 7 A O
1711 IR B v (1~30) mP:s = 800.0 0.0 597 G 0
1712 B bR o BT A 0.03 W6 FE 0.00~2.00 & 540.0 0.0 By 7 AN T O
1714 & FH 5 R (1~200) ml/h & 300.0 0.0 Y7 AN e 0
1715 EERER R (mq;ﬁ) (1~1200) ml/h & 1800.0 0.0 =7 A
1716 EHES R (YE (1~1200) ml/h = 1200.0 0.0 Y7 AN e 0




1717 EHESE (CIEiE) (1~1200) mi/h & 900.0 0.0 %7 A O
1718 & HESN R (BUEIE) (1~1200) ml/h = 600.0 0.0 R I7 A O
1719 &R (1~1200) mi/h & 300.0 0.0 %7 A 0
1770 b 7K 3 AR R B SR A (25~150) C & 500.0 0.0 PRy Al A
1771 B K S R IR A (25~100) C & 500.0 0.0 %7 A 0
1774 e 37°C = 500.0 0.0 &7 Aar il 0
19 EAR O EE IESSE = 200 0.0 — A PO
24 L FLIRE (1-40) m/s & 2500 0.0 — A L
e s 0.2~1)%,
389 it bt (DN:203mm B 1200.0 0.0 =RAM
e s 0.2~1)%, D(125~
390 mTRE ( 1)50)mm( 0 1000.0 0.0 = SRl
e s 0.2~1)%, D(80~
391 mTRE ( 130)mm( 0 800.0 0.0 = SRl
e s 0.2~1)%, DN:<
392 TR T ( ngm He 560.0 0.0 L
448 it = 600.0 100.0 — ZRA P PO
1779 Z PR =R 1.0-3.0 0-400V,0-100A H 60.0 0.0 = A PO
1780 Z R AR 0.2-0.5 0-400V,0-100A H 100.0 0.0 =R A P
1782 — M HL T2 DhRE L RE 0-400V,0-100A H 280.0 0.0 — R AT L
1783 — AT ZUIREHRE HIh0.5%%; J1)2.04% 0-400V,0-100A H 280.0 0.0 =R A P
1784 LR A A 1.0-2.0 0-400V,0-100A H 60.0 0.0 =Rl 0
1785 A AT HLEE 0.2-0.5 0-400V,0-100A H 80.0 0.0 =R A rp L
1786 2255 A AH L L B 1.0-2.0 220V,0-100A H 30.0 0.0 — R AT L
1787 2R AR H T LR 0.2-0.5 220V,0-100A H 50.0 0.0 — R A
1788 22 AU R R 0.2-0.3 0-400V,0-100A H 30.0 0.0 — R AT L
1789 2 AU R 0.05-0.1 0-400V,0-100A H 60.0 0.0 — AP 0
1790 2 AU A HL RE 0.2-0.3 220V,0-100A H 20.0 0.0 =R G
1791 225 XA LBk AH L e 0.05-0.1 220V,0-100A H 40.0 40.0 — RAGI P L
1793 — bR E R RER 0.1-0.2 0-400V,0-100A & 315.0 60.0 = A PO
1794 —AHbRE R RER 0.05 0-400V,0-100A = 450.0 40.0 — RAGI P L
1795 AR E R RE SR 0.1-0.2 0-400V,0-100A & 315.0 60.0 = A PO
1796 FAH bR AE FLRE 0.05 0-400V,0-100A = 450.0 0.0 — RAGI P L
1797 AR e E 0.1-0.3 220V,0-100A & 720.0 0.0 = AT PO
1798 SARFAE R E R E 0.2-0.3 1oov,2igg£80v,o- El 1800.0 0.0 =R
1799 SHIBRE R E R A 0.05-0.1 1oov,2igg£8ov,o- =) 2250.0 0.0 =R
1800 HAHH R e B 0.2-0.3 220V,0-100A & 720.0 0.0 — AP 0




1801 HAHHBEREREERE 0.05-0.1 220V,0-100A & 900.0 0.0 — A PO
1833 TS 1.5%% (0.1-200)m3/h A 150.0 0.0 — RAT I O
1834 ICE ¥ /KKFE 2% DN15-DN25 A 30.0 0.0 — A PO
1836 BIKIKF 27 DN40-DN50 A 30.0 0.0 —RAI L
1837 A IKKFE 2% DN15-DN25 A 15.0 0.0 — A PO
2563 D100IR AT E T 1% 10~1000m3/h & 1000.0 0.0 —RAI L
2613 D255 it it +1% ®25 He 560.0 0.0 — A PO
2621 AT AL A (0.1~1.0)% D(10~100)mm He 400.0 0.0 — RAGTI 0




